UGC NET 2021 Geography SH2

Topic:- Geog_SH2_Set1_A

1)

Which one of the following periods did archaeoclogists find the evidence of permanent human

settlements?
(1) The paleolithic Period () The Bronze Age Period
(3) The Neolithic Period (4) The Classical Era Period
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[Question ID = 401][Question Description = Q1_Geog_sh2_Set1_A]
1. 1 [Option ID = 1601]
2. 2 [Option ID = 1602]
3. 3 [Option ID = 1603]
4. 4 [Option ID = 1604]

2) The term which describes that population will continue to grow even after fertility rates
decline is known as é
(1) Demographic momentum (2) Demographic transition \‘\)
(3) Rate of Natural increase (4) Rate of fertility dechne
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[Question ID = 402][Question Descrlptlo @‘:% sh2_Set1_A]
1. 1 [Option ID = 1605]
2. 2 [Option ID = 1606]

3. 3 [Option ID = 1607]
4. 4 [Option ID = 1608] %
3) Whi g he following described geography as the sclence of map making?

(1) Thales of Miletus (2) Strabo
(3) Hecataeus (4) Cladius Ptolemy
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[Question ID = 403][Question Description = Q3_Geog_sh2_Set1_A]
1. 1 [Option ID = 1609]
2. 2 [Option ID = 1610]
3. 3 [Option ID = 1611]
4. 4 [Option ID = 1612]

4)  Who among the following challenged the theory of origin of species’?
(1) P.E. James (2) De Varies
(3) H. Robinson (4) K.K. Park
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[Question ID = 404][Question Description = Q4_Geog_sh2_Set1_A]
1. 1 [Option ID = 1613]
2. 2 [Option ID = 1614]
3. 3 [Option ID = 1615]
4. 4 [Option ID = 1616]

%) Which one of the following refers to a relationship between a cultural group and natural
environment?
(1) Cultural ecology (2) Cultural eonvergence
(3) Cultural diffusion (4) Cultural hearth
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[Question ID = 405][Question Description = Q5_Geog_sh2_Set1_A]
1. 1 [Option ID = 1617]
2. 2 [Option ID = 1618]
3. 3 [Option ID = 1619]
4. 4 [Option ID = 1620]

Which one of the following exert maximum tide producing force on the ocean water?
(1) Sun (2) Moon \.)d
(3) Venus (4) Mars 6\,
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[Quest1on ID = 406][Question Description = Q6_ _S t1_A]

. 1 [Option ID = 1621] P
2. 2 [Option ID = 1622] \
3. 3 [Option ID = 1623] O

4. 4 [Option ID = 1624]

7) a ey’ movement, a soclal movement to save the tropical green forest from
or a regional development project was territorially based in Indian State of —
(1) West Bengal (2) Bihar
(3) Kerala 4 Gujarat
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[Question ID = 407][Question Description = Q7_Geog_sh2_Set1_A]
1. 1 [Option ID = 1625]

2. 2 [Option ID = 1626]
3. 3 [Option ID = 1627]
4. 4 [Option ID = 1628]

8) Which of the following is not associated with structure of a tropical cyclone?
(1) Eye Wall (2) Spiral Bands
(3) Annular Bands (4) Ekman Spirals
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[Question ID = 408][Question Description = Q8_Geog_sh2_Set1_A]
1. 1 [Option ID = 1629]
2. 2 [Option ID = 1630]
3. 3 [Option ID = 1631]
4. 4 [Option ID = 1632]

9)  According to Koppen's climatic classification ‘Amw’ climate is found in

(1) Assam (2) Goa
(3) Punjab (4) Arunachal Pradesh
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[Question ID = 409][Question Description = Q9_Geog_sh2_Set1_A]
1. 1 [Option ID = 1633]
2. 2 [Option ID = 1634]
3. 3 [Option ID = 1635]
4. 4 [Option ID = 1636]

Age during which ice sheets covered much of the Northern Europe?
(1)  Jukes (2) Agassiz . (\\6
(3) Ramsay (4) w. \\
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[Questi%@%s n Description = Q10_Geog_sh2_Set1_A]
D - 897]

10 : ; : B Al ;
) Who 1z usually given the credit for establishing the validity of the 1dea that there éaw&

1. 1 [Opti

2. 2 [OptionWd = 1638]
3. 3 [Option ID = 1639]
4. 4 [Option ID = 1640]

11 5 e e
) The concept of Lebensraum became popular in the discipline of political Geography after the
publication of —
(1) Making Political Geography (2) Geographical Pivot of History
(3) Cosmography (4) Politische Geographic
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[Question ID = 411][Question Description = Q11_Geog_sh2_Set1_A]
1. 1 [Option ID = 1641]
2. 2 [Option ID = 1642]
3. 3 [Option ID = 1643]
4. 4 [Option ID = 1644]
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(D
(2)
(3)
(4)

East Asia, North America, South Asia, Africa
East Asia, South Asia, Europe. Central Africa
East Asia, South Asia, Europe, North Africa
East Asia, South Asia., Europe. North America
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[Question ID = 412][Question Description = Q12_Geog_sh2_Set1_A]
1. 1 [Option ID = 1645]
2. 2 [Option ID = 1646]
3. 3 [Option ID = 1647]
4. 4 [Option ID = 1648]

13)

The term “Anthropogeographic” was coined by Ratzel in his work

(1)
(2)
(3)
(4)

Study of harmonious reciprocal relation of man and nature

Geography of man in terms of individuals and races

Geography of man and his work in relation to earth surface

Organic theory of soclety and state
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[Question ID = 413][Ques ’onﬁtl;l = Q13_Geog_sh2_Set1_A]
1. 1 [Option ID = 1649] EE
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Which of the following faunal groups has the highest percentage of endemic species?

(D
(3)

Amphibians (2) Birds

Insects (4) Reptiles
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[Question ID = 414][Question Description = Q14_Geog_sh2_Set1_A]
1. 1 [Option ID = 1653]
2. 2 [Option ID = 1654]
3. 3 [Option ID = 1655]
4. 4 [Option ID = 1656]

15)

What will be the median of the distribution represented in the given graph?
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[Question ID = 415][Question Description = Q15_Geog_sh2_Set1_A]

1. 1 [Option ID = 1657]
2. 2 [Option ID = 1658]
16) In which month. the maximum.@%f sea lce 1s found in Arctic Ocean?

3. 3 [Option ID = 1659]
O ®

4. 4 [Option ID = 1660]

(1) December February

(3) January (4) May
(2)  wE
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[Question ID = 416][Question Description = Q16_Geog_sh2_Set1_A]
1. 1 [Option ID = 1661]
2. 2 [Option ID = 1662]
3. 3 [Option ID = 1663]
4. 4 [Option ID = 1664]

17) A Free Trade Zone, In international trade, happens to be there, where

(1)

2
(3)

4

All the participating member countries impose a common tariff on imports from

non-member countries
All the participating countries allow free movement of labour and capital

Member countries abolish tarff and quotas on trade but maintain independence to

lImpose restrictions on imports from non-member countries

Member countries adopt common economic policies on lssues such as agriculture,

transport. industry and regional policy
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[Question ID = 417][Question Description = Q17_Geog_sh2_Set1_A]
1. 1 [Option ID = 1665]
2. 2 [Option ID = 1666]
3. 3 [Option ID = 1667]
4. 4 [Option ID = 1668]

18) Laminar flow of air refers to

(1) Movement of particles in all direction
(2) Movement of particles in one direction
(3 Deflection in the direction of surface winds

(4) Decrease of air pressure between two 1sobars
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[Question ID = 418][Question Description = Q18_Geog_sh2_Set% _A]
1. 1 [Option ID = 1669]
2. 2 [Option ID = 1670]

3. 3 [Option ID = 1671] %
4. 4[Option ID = 1672] : \

19 The- eoonom_lc oﬁ from the coastline extends upto a distance of

(e miles (2) 120 nautical miles
(3) 200 nautical miles (4) 320 nautical miles
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[Question ID = 419][Question Description = Q19_Geog_sh2_Set1_A]
1. 1 [Option ID = 1673]
2. 2 [Option ID = 1674]
3. 3 [Option ID = 1675]
4. 4 [Option ID = 1676]

20) Hydraulic Slope Theory 1s given by
(1) C. Darwin (2 W.M. Davis
(3) W. Penck {4) R.E. Harton
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[Question ID = 420][Question Description = Q20_Geog_sh2_Set1_A]
1. 1 [Option ID = 1677]
2. 2 [Option ID = 1678]

3. 3 [Option ID = 1679]
4. 4 [Option ID = 1680]

21) Who among the following gave the concept of “Unity in Diversity™?

(1) A V. Haumboldt (2) Hettner

(3 C. Ritter (4) 0. Paschel
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[Question ID = 421][Question Description = Q21_Geog_sh2_Set1_A]
1. 1 [Option ID = 1681]
2. 2 [Option ID = 1682]
3. 3 [Option ID = 1683]

4. 4 [Option ID = 1684] &

22) {
Which one of the following are considered while preparing future population §roje 101s

(1) Crude death rates and their temporal changes . g\\
(2) Rate of population increase and future assumptio f \& birth rates based on
past data \

(3) General fertility rates and their tempongl ghahges
(4) Age and sex composition rates a €nmiporal changes
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[Question ID = 422][Question Description = Q22_Geog_sh2_Set1_A]
1. 1 [Option ID = 1685]
2. 2 [Option ID = 1686]
3. 3 [Option ID = 1687]
4. 4 [Option ID = 1688]

23 ; : ; :
) Which of the following map scales would be most useful for study of the details of geographic

features in the landscape of farming community
(1) 1:3.000.000 (2) 1:1.000,000
(3)  1:10.000 4 1:125,000
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(1)  1:3.000.000 (2 1:1.000.000
(3)  1:10.000 4) 1:125,000

[Question ID = 423][Question Description = Q23_Geog_sh2_Set1_A]
1. 1 [Option ID = 1689]
2. 2 [Option ID = 1690]



3. 3 [Option ID = 1691]
4. 4 [Option ID = 1692]

24 : .
) The range of pH value for unpolluted rain water i1s between
(1) pH4 and pHb5 (2) pH5 and pH6
(3) pH6 and pH7 (4) pH7 and pHS
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[Question ID = 424][Question Description = Q24_Geog_sh2_Set1_A]
1. 1 [Option ID = 1693]
2. 2 [Option ID = 1694]
3. 3 [Option ID = 1695]
4. 4 [Option ID = 1696]

25
‘ Which of the following is not an appropriate strategy used to promote gualitative research
validation?
(1) Peer review (2) Triangulation method
(3 Extended fieldwork (4) Random validation of assignments
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[Question ID = 425][Question Description = Q25_Geog_sh2_Set1_AO
1. 1 [Option ID = 1697] ‘
2. 2 [Option ID = 1698] &(
3. 3 [Option ID = 1699] ‘
4. 4 [Option ID = 1700] \6%
26) : Q
Which one of the follo stly absorbed by the ocean surface?
(1) Visi radiation (2) Medium wave radiation
( 1 diation (4) Ultra-violet wave radiation
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[Question ID = 426][Question Description = Q26_Geog_sh2_Set1_A]
1. 1 [Option ID = 1701]
2. 2 [Option ID = 1702]
3. 3 [Option ID = 1703]
4. 4 [Option ID = 1704]

27)
Who among the following scholars applied the formula PI = 1}' = where PI = Agricultural
n n
productivity index; Y = Total production of selected crops in unit area: ¥, = Total production
of the same selected erops in the country; T = Total cropped area of the unit; T, = Total
cropped area 1n the country for measuring agricultural productivity level.
(1) Bhatia (2) Enyedi
(3) Weaver (4) Shafi
frfafiaa @ = fro e 3 F0 seesa = @1 =3 9= PI:;;TE =1 A T 2, SEf PI = 3
n n
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[Question ID = 427][Question Description = Q27_Geog_sh2_Set1_A]
1. 1 [Option ID = 1705]
2. 2 [Option ID = 1706]
3. 3 [Option ID = 1707]
4. 4 [Option ID = 1708]

28)
Northward slopes remain forested in mountainous areas due to
(1) Radiation intensity (2) Sensible heat
(3) Diffusion of heat (4) Rayleigh scattering
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[Question ID = 428][Question Description = Q28_Geog_sh2_Set1_A]
1. 1 [Option ID = 1709]

2. 2 [Option ID = 1710]
3. 3 [Option ID = 1711]
4. 4 [Option ID = 1712] \‘

29) \
Which one of the following states/U.T in India have record i ase in Infant
mortality rate during last 3 decades. K\
(1) Jammu and Kashmir 42) \Xﬁt@adesh
(3) Tamil Nadu Hr Tadhva Pradesh
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[Question ID = 429][Question Description = Q29_Geog_sh2_Set1_A]
1. 1 [Option ID = 1713]
2. 2 [Option ID = 1714]
3. 3 [Option ID = 1715]
4. 4 [Option ID = 1716]

30)
What 1s known as ‘Fossil water™
(1) Connate water (2) Meteoric water
(3 Plutonic water (4) Juvenile water
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[Question ID = 430][Question Description = Q30_Geog_sh2_Set1_A]
1. 1 [Option ID = 1717]
2. 2 [Option ID = 1718]
3. 3 [Option ID = 1719]
4. 4 [Option ID = 1720]



) In which of his book in 1919, Mackinder rechristned his concept of ‘Pivot Area’ as ‘Heart
land’.
(1 The Round world and the winning of peace
(2) Foreign Affairs
(3) World war and Geography
(4) The Democratic ideals and Reality
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[Question ID = 431][Question Description = Q31_Geog_sh2_Set1_A]
1. 1 [Option ID = 1721]
2. 2 [Option ID = 1722]
3. 3 [Option ID = 1723]
4. 4 [Option ID = 1724]

32 . . .
) Which of the following describes central place model
(1) Spatial patterns of urban and out lying areas based on the flow of goods and services
(2) Spatial patterns of income groups
(3) Spatial patterns of residential places \ d
(4) Spatial pattern of cultural places < \'\)
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[Quest1on ID = 432][Quest1on&® Q32_Geog_sh2_Set1_A]

. 1 [Option ID = 1725]
2. 2 [Option ID = 1726]
3. 3 [Optiog)

4. 4[Opt

33) Who among the following gave the idea of the origin of monsoon in India?

(1) Al - Biruni (2) Al - Masudi
(3) Ibn - Hakkal (4) Ibn - Khaldun
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[Question ID = 433][Question Description = Q33_Geog_sh2_Set1_A]
1. 1 [Option ID = 1729]
2. 2 [Option ID = 1730]
3. 3 [Option ID = 1731]
4. 4 [Option ID = 1732]

34) Which of the following food stuff consume highest amount of water.
(1) Rice (2) Beef
(3) Chocolate (4) Banana
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[Question ID = 434][Question Description = Q34_Geog_sh2_Set1_A]
1. 1 [Option ID = 1733]

2. 2 [Option ID = 1734]

3. 3 [Option ID = 1735]

4. 4 [Option ID = 1736]

33) The line of equal distribution at 45° used for measuring inequalities is called
(1) Scatter diagram (2) Histogram
(3) Lorenz curve 4) Ogive curve
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[Question ID = 435][Question Description = Q35_Geog_sh2_Set1_A]

1. 1 [Option ID = 1737]

2. 2 [Option ID = 1738]

3. 3 [Option ID = 1739]

4. 4 [Option ID = 1740]

36) The sea plains are almost absent between: &
(1) 20°8- 30°S Latitudes 2 60°N - 70°N Latitudes \'\.)
(3) 40°8- b0°S Latitudes 4) 30°8- 40°S Latitudes >
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[Quest1on ID = 436][Question Descrlptlmx'i@% _sh2_Set1_A]

. 1 [Option ID = 1741]
2 2 [Option ID = 1742]
3. 3 [Option ID = 1743] %

4. 4 [Option ID = 1744]

37) manufacturmg firm locates very close to its raw material suppliers or to supplying
fini ed products. it 1= termed as

(1) Urbanisation economies (2) Internal economies

(3) Marketing economies (4) Localisation economies
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[Question ID = 437][Question Description = Q37_Geog_sh2_Set1_A]
1. 1 [Option ID = 1745]
2. 2 [Option ID = 1746]
3. 3 [Option ID = 1747]
4. 4 [Option ID = 1748]

38)
What will happen if the earth absorbs all the incident energy?
(1) Constant heating up (2) Constant cooling up
(3) Constant transmission (4) Constant reflection
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[Question ID = 438][Question Description = Q38_Geog_sh2_Set1_A]
1. 1 [Option ID = 1749]
2. 2 [Option ID = 1750]
3. 3 [Option ID = 1751]
4. 4 [Option ID = 1752]

39) Which one of the following group of states/UT recorded more than 35 percent of urban
population according to census 2011 data.
(1) Andhra Pradesh, Kerala, Chhattisgarh, Haryana
(2) Gujarat, Tamil Nadu, Kerala, Punjab
(3 Tripura. Kerala. Punjab. Chhattisgarh
(4) Sikkim, Kerala. Punjab, Goa
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[Question ID = 439][Question Description = Q39_Geog_sh2_Set1_A] ‘
1. 1 [Option ID = 1753] s e
2. 2 [Option ID = 1754] (\ :

3. 3 [Option ID = 1755] ; \

4. 4 [Option ID = 1756] O

40) Cirques are landform of &\)

(1) First order Second order

(3)  Third order &O\' Fourth order
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[Question ID = 440][Question Description = Q40_Geog_sh2_Set1_A]
1. 1 [Option ID = 1757]
2. 2 [Option ID = 1758]

3. 3 [Option ID = 1759]
4. 4 [Option ID = 1760]

41 F 2
) Which one of the following statements are correct?

(A) Ocean currents provide a high degree of regulation to the thermal environments of
the earth’'s surface

(B) On a local scale, warm water currents bring moderating influence to coasts in arctic
latitudes

(C) Cold currents are not able to bring down the temperature of tropical deserts
(D) Density differences may also cause flow of ocean water

Choose the correct answer from the options given below:

(1) (A). (C) and (D) only



(2)  (A). (B) and (D) only
(3)  (B). (C) and (D) only
(4)  (A). (B) and (C) only
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(A)  TEEFRE 9RE gt i g9 F e aEE w5 st A w f)

(B) T UM W T Ao 900 AR S A § 92 W HoHnl 09 Al

(C) =% WU 3 FizadT HeEen | aaE 9 FEe 98 = 9l 7

(D)  =Fca H A % ®AY H HEETHEE Fe § 94 7 a6 2

= fau o faEenl 5 | wE 39w =99 Fiha

(1)  F&= (A). (C) =l (D)
(2) ¥ (A), (B) 3 (D)
(3)  #= (B). (O) 3 (D)
(4) ¥ (A), (B) 3 (C)

[Question ID = 441][Question Description = Q41_Geog_sh2_Set1_A]
1 [Option ID = 1761]
2 [Option ID = 1762]
3 [Option ID = 1763] .
4 [Option ID = 1764]

42) The GIS based map can he \)

(A) Updated %
! Displaved _ $

(C)
(D) ‘1;3%-%%'16 web portal
Cg(:

he most appropriate answer from the options given below:

A wpN =

(1) (A) and (B) only
(2) (B). (C) and (D) only
(3) (A). (B) and (C) only

(4) {A). (B). (C) and (D) only

S T U saTha g i FeenEd 5 5 94 e o a2 7
(A)  FTEEd
(B) =iEd
(C) Wi

(D) TP 59 UZE W 3@l W Ha 2
Hr= f2u o foeret © @ wEE S9EEA W A A

(1)  Fae (A) 317 (B)



(2) === (B), (C) 37 (D)
(3)  Fae (A). (B) 3 (C)

9 (A (B). (C) 3 (D)

[Question ID = 442][Question Description = Q42_Geog_sh2_Set1_A]
1. 1 [Option ID = 1765]
2. 2 [Option ID = 1766]
3. 3 [Option ID = 1767]
4. 4 [Option ID = 1768]

43) Which one of the following explains rapid growth of information and technology industry in

South India as compared to North India.

(A) Good Governance

(B) Good infrastructure and network accessibility
(C)  Large number of higher technical institutes
(D) Lower Labour cost

(E) High proportion of manufacturing workers

Choose the correct answer from the options given below: ﬂ
(1) (B). (C) and (E) only \‘\)é

(2)  (B). (C) and (D) only \ E')
(3)  (A), B) and (C) only ‘\(\\6

@ (&), ® and @) only OK\\
T ARG I g | 2 9 g WWWWTH FreAfertaa @ 7 F9 T =
EGIRA

i fauw o fEepenl 9 @ @E I # =EA Fif

(1)  F== B). (C) % (B)

(2 ¥ (B). (C) 3r (D)

3  FA4 (A), (B) 3R (C)

(49  F= (A). (B) @1 (D)
[Question ID = 443][Question Description = Q43_Geog_sh2_Set1_A]
1. 1 [Option ID = 1769]
2. 2 [Option ID = 1770]

3. 3 [Option ID = 1771]
4. 4 [Option ID = 1772]

44)  Which group of countries is known as the emerging markets?

(A) Taiwan - Japan
(B) India - Brazil



(C)  Russia - China
(D) Russia - Chile
(E) U.S.A- China

Choose the correct answer from the options given below:

(1) (A) and (E) only
(2) (B) and (C) only
(3)  (C) and (D) only
(4) (D) and (E) only

T T TR F IW 53 AT & F9 H AHT @AY

(A) GIEC IE B I E |

(B) WA - ST
(©) =5 -4HF
D) =4 - ==

(B) 3. .w4. 1 -39

= fou o e B © O I # == i 6\)}&*

(1) === (A) #7 (E)

(2)  Fa= (B) 3R (C) K\\\
(3)  Fa= (C) 3R (D) O |
(4 F== (D) 3R (B) : &(\)
[Question ID = 444][Question Descriptim\@%\g_shz_Seﬂ_A]
O

1. 1 [Option ID = 1773]
2. 2 [Option ID = 1774]

3. 3 [Option ID = 1775] ;

4. 4 [Option ID = 1776]

45) e @ i ] e P .
f the following statements are correct about vertical distribution of temperature 1n

oceans

(A) The sun ray's have no effect below 600 feet
(B) Inspite of movement of water: large part of sea is relatively cold
(C) 80% of water in the oceans has a temperature permanently below 40°F

() The vertical rate of decrease in temperature from equator to pole is the same

Choose the most appropriate answer from the options given below:

()  (A). (B) and (C) only
(2)  (B). (C) and (D) only
(3)  (C)and (D) only
(490 (A) and (D) only

TEET 4 a9 E F F5 famm # an § ofaiEa 9 0 50 9 e e v

(A) 600 T2 F /= T4 i Fwor = FE w9E T B 2

o — - . -



(B)  S<1I-9ETH = 9E[E WHs BT 997 58 A9ETHd 381 Tl gl

(C) wem@ETAl ° 80 WidwE 1 =1 aq|H el =9 o 40°F ° =4 =1 7

(D)  guEE @ ya W 3 % aeEE 8 P sl w9 E gae e 2
Fr fam o et § ¥ T I I A = A

(1)  F=4 (A). (B) 3 (C)
(2)  Fa (B). (C) 1 (D)
(3)  FAA (C) # (D)
4 F=9 (A) #E (D)

[Question ID = 445][Question Description = Q45_Geog_sh2_Set1_A]
1. 1 [Option ID = 1777]
2. 2 [Option ID = 1778]
3. 3 [Option ID = 1779]
4. 4 [Option ID = 1780]

46)  State/UTwise location of Biosphere Reserves in India.
(A) Nokrek in Meghalaya
(B) Cold Desert in Jammu and Kashmir
(C) Simlipal in Odisha e
.
(D) Seshachalam in Tamil Nadu \\(\\
Choose the correct answer from the options given\bﬁwOK\

(1) (A) and (B) only

3 ‘ \
(2) (B) and (C) only ) \66
O

(3)  (A) and (C) on
@ ® only
urE 4 Syt i T fTEey A e
(A)  TEEE H A
(B) T ¥R FYER 9 TG mEEaw
(C)  =iifsen & fomefiore
(D) dfEeFTg 8 TErEeE

== f5u U el § W WE I R 999 S

(1) = () = (B)

(2) a4 (B) 3 (O)

(3)  #= (A) # (C)

(4) == (B) ¥ (D)
[Question ID = 446][Question Description = Q46_Geog_sh2_Set1_A]
1. 1 [Option ID = 1781]

2. 2 [Option ID = 1782]
3. 3 [Option ID = 1783]



4. 4 [Option ID = 1784]

47)

The term peneplane denotes to

(A)
(B)
(C)
(D)
(E)

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

A level surface formed in the old age of a fluvial cyele

A level surface formed by wind erosion
A level surface formed by marine erosions

A level surface formed by meeting of flood plain

A level surface formed as an end product of erosion

(A) and (E) only
(B) and (C) only
(B) and (D) only
(A) and (D) only

R i B ol o

(A)
(B)
(&)
(D)

(E)

= fou U fawedl | 9 wE I # =99 Fiee

(1)
(2)

(3)

Tt 7¢3 == i fagEen 1 e aoaa aas

a4 3HEA § HiHa oHad das

HF AW @ Hida gHae wae

AeFA T5H F FoH | [ 79 g0n

HWEA Tl HAleaH 30915 @ (e F9ae HJan

Fae (A) #FF (E)

Fae (B) 3R (C) ‘ &O\e%

[Question ID = 447][Question Description = Q47_Geog_sh2_Set1_A]
1. 1 [Option ID = 1785]
2. 2 [Option ID = 1786]
3. 3 [Option ID = 1787]
4. 4 [Option ID = 1788]

48)

Which of the following mines have their association with gypsum?

(A)
(B)
(©)
D)
(E)

Nagaur
Lapsa Buru
Bhadwah
Ghagidith

Jasmar

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A). (B) and (C) only
(B). (C) and (D) only
(C). (D) and (E) only
(A). (C) and (E) only



et & % e e o @ wfm 27

(4)
(B)
(C)
(D)

(E)

EILi

T TR

i o U e | ® A IO R 999 it

(1)
2
(3)
€

Faa (A). (B) 31 (C)

Fa= (B), (C) 31 (D)

Fa (C), (D) ¥ (E)

Fa9 (A). (C) ¥ (E)

[Question ID = 448][Question Description = Q48_Geog_sh2_Set1_A]

1. 1 [Option ID = 1789]

2. 2 [Option ID = 1790]

3. 3 [Option ID = 1791] \.)
4. 4 [Option ID = 1792] 6

Drift Theory of Wegener was postulated mainly to explain, which ‘“(&owﬁng?

49)

(A)
(B)
(©)
(D)

Choose the

a8
(6@1& (B) only

(2)
(3)
(4)

Ice Age and Glacial movements OK\

Geological similarities of the coasts an cidtions

Distribution of landforms aé% ﬂoor?s
Major climatic ¢ @& orld

late answer from the options given below:

(B) and (D) only
(C) and (D) only

(A) and (D) only

TR T TR TEg qeaa: Feteied 3 | e s i & e gtqiea e mEn an e

(A

(B)

(<)

(D)

femep #in EadiE d=e

TG A2l S fEEAe 1 e S

Y- 3TFHfET SR AEETR 7 F A

v % e wear aREe

Fre Tou e faeal § O Hel S9EEE ST 1 =5 HIA

1

(2)

Fae (A) 3T (B)

Fa4 (B) ¥R (D)

i .



ot (L) HIL (D)
(4) === (A) #T (D)
[Question ID = 449][Question Description = Q49_Geog_sh2_Set1_A]
1. 1 [Option ID = 1793]
2. 2 [Option ID = 1794]

3. 3 [Option ID = 1795]
4. 4 [Option ID = 1796]

50 . :
) Which of the following statements are correct about sea water.

(A) The density of sea water depends upon temperature, pressure and salinity
(B) Convergence of water has no effect on density
(C) The thermal expansion of water varies with the increase and decrease of temperature

(D)  In the middle latitudes. due to an excess of precipitation the density is higher

Choose the correct answer from the options given below:

(1) {A) and (D) only

(2) {A) and (C) only
(3)  (B)and (C) only f \*
(4)  (C) and (D) only \'\)

Tl =it F fava ¥ FefoiEd § § $H-8 F9H 5 27 6

(A)  =HZI el N °Aed dI9HM, 28T R SEEr W A w2 O®\
(B) mmmﬁwﬁnﬂrﬁmﬁrﬁéwﬁmz \)
fead =i 71

(C) A9 % sed-524 § e % g

(D) =R wET A A%

e fow o Tt %ﬁﬂ%ﬂ:{ﬁﬁ“ fau :

(1) A) 371 (D)
(2) ¥ (A) 3 (C)
(3)  F=A (B) 3 (C)
(4) = (C) 3 (D)

[Question ID = 450][Question Description = Q50_Geog_sh2_Set1_A]
1. 1 [Option ID = 1797]
2. 2 [Option ID = 1798]
3. 3 [Option ID = 1799]
4. 4 [Option ID = 1800]
31) River regime with reference to flow refers to
(A) Pattern of seasonal flow of water
(B)  Rivers differ in their regime due to climatic conditions

(C)  River regime is represented mathematically by cumecs

(D)  River regime of Narmada and Jhelum are similar

Choose the most appropriate answer from the options given below:



TG * 24§ T8 99 F AT 2o

(4)

(B)

(©)

(D)

= fau 7 faeat 5§ mew IugEa = fifee

(1)
@
(3)

4

[Question ID = 451][Question Description = Q51_Geog_sh2_Set1_A]

(1)
2
(3
(4)

=H @ OIEH =R 9 OiaE

(A) and (B) only
(B) and (C) only
(C) and (D) only

(A) and (D) only

Ferarg wael feafa & w56 a0 10 o w5 E

T4 77 FgHTE g MHE F9 " 9 S A

Fa (A) 7 (B)

*a (B) #1 (C)

Faa (C) 371 (D)

Faa (A) #TF (D)

1. 1 [Option ID = 1801]
2. 2 [Option ID = 1802]
3. 3 [Option ID = 1803]
4. 4 [Option ID = 1804]

52)

fa=fetfiga # o % ®@iea® (functional ) 739 T 27

(4)
(B)
(©)

(D)

Fr= oo HeeT O O e STESE 39T 5 =999 i -

Which of the following are not

(A)
(B)
(
(D)

Middle Ganga

Natm bi
a au Region

lkata Howrah Conurbation

A

f,i’@%gw

Choose the most appropriate answer from the options given below:

(1)
(2)
(3)
(4)

(A). (B) only
(A). (C) only
(B). (C). (D) only

(A). (B). (C) only

W THA &

FIEFRET — BATE T



(D
(2
(3)

4

Fad (A) 3 (B)
Fa (A) #HIT (C)
*a (B). (C) 31 (D)

Fae (A). (B) 3117 (C)

[Question ID = 452][Question Description = Q52_Geog_sh2_Set1_A]
1. 1 [Option ID = 1805]
2. 2 [Option ID = 1806]
3. 3 [Option ID = 1807]
4. 4 [Option ID = 1808]

53)

Which of the following statements are correct about the state of Himachal Pradesh in India?

(A) High potentialities for hydro-power generation
(B)  High literacy

(C) High potentialities of horticulture development
(D) Rich in mineral resources

(E) High proportion of usable land

Choose the correct answer from the options given below:

(1)  (A). B). (E) only
(2)  (A). (B). (D) only °

(3 (C). D). (E) only O®
@  (A). ®B). (C)only &(\)

E

e = B R 5 - ¥ 4
Wn%maam_mmwnﬁﬂfﬁ?@ﬁ@%ﬂmaﬁ%?

(A)
B)
(C)
(D)

(E)

T A G JEe

o Al FETET

Hr=1 fau o el ® ° wEm I I H 99 FifE

(1)
(2)
(3)

(4)

#==1 (A). (B). (E)
Fae (A). (B). (D)
F=4 (C). (D). (E)

Faa (A). (B). (O)

[Question ID = 453][Question Description = Q53_Geog_sh2_Set1_A]
1. 1 [Option ID = 1809]
2. 2 [Option ID = 1810]
3. 3 [Option ID = 1811]
4. 4 [Option ID = 1812]

54)

The outcome of Kyoto Protocol 1997 agreement was

(A) 5.2% cut in emission of carbon dioxide



(B) Agreement can not be invalidated
(C) The protocol was to be effective from 1997

(D) The protocol was to be effective from 1999

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2)  (B)and (C) only
(3) (A) and (D) only

(4) (C) and (D) only

FAE] UiZrhTe], 1997 EHZ 1 941 gis o7 7

(A) A SEHEESS % ScHeA H 5.2% Ferdi
(B)  Gu=itd =+ A9 T8 A1 1 gl 7
(C) == WZrhe 1997 | v ZM7 9|

(D) == TR 1999 ¥ wHmEl 26 A1l
A= fou o fohedl ® © FeE S9ET 3T 1 =EA HIAT C“E

(1) & (A) =i (B) \‘\(\\6
(@) F (B) ¥ (C) O&\
@) A (A) 3tk (D) &(\)

(4) =&« (C) i (D)

[Questlon ID = 454][Quest1on®‘XzS4 Geog_sh2_Set1_A]

. 1 [Option ID = 1813]
2 2 [Option ID = 1814]
3.3 [Optlon D =

33) Whach of the following atmospheric gases has not been represented by correct symbol?

(A) Neon — Ne
(B) Helium — He
(C) Nitrous oxide — NO

(D) EKrypton — KR
Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3)  (C) and (D) only

(4 (A) and (D) only
frferfiga 9 @ =19 agavssig 9 w2 adie gry T gmEn T

(A) TEE-T1E (Ne)



(B)

(©)

(D)

fefeam - == 3 (He)
AzzE AFEES - v 3 (NO)

e - * @7 (KR)

e U U foehedt | H WeE SUgFT IO T =5 AT

(1)

(2

(3

&)

Faa (A) ¥ (B)
a4 (B) #1T (C)
Fae (C) 77 (D)

Fa9 (A) 31T (D)

[Question ID = 455][Question Description = Q55_Geog_sh2_Set1_A]
1. 1 [Option ID = 1817]
2. 2 [Option ID = 1818]
3. 3 [Option ID = 1819]
4. 4 [Option ID = 1820]

56)

Which of the following are not the property/ies of correlation coefficient?

(A) r 12 independent of the choice of origin

(B) r is independent of scale

(C) r lies between —1 and +1

(D) r = +1.0 Indicates a perfectly negative correlation

(E) = -1.0 indicates a perfectly positive correlation

Choose the correct answer from the options gl&

(1) (A) and (B) only \66

(2) B)and (C) o
(3) (C) and nh

ﬁ‘-_-lﬁ(:&ﬂ

r (97) 999 % J¢d | =0 7

r (¥R) 90 W w=E A

r (¥R) — 1 X +1 & o= 9 fom 2

r (37) = + 1.0 YOI THIEHF TEEEY F ThA 241 2|

r (¥R) = —1.0 ol 4eA= AEEEY 1 HhA 9 2

Fr= f2v T faeTt 9 9 9F I W == i

(1)
(2)
(3)
(4)

Fae (A) #i (B)
Fa (B) 37 (C)
Fae (C) #17 (D)

Fa< (D) ¥ (E)

[Question ID = 456][Question Description = Q56_Geog_sh2_Set1_A]
1. 1 [Option ID = 1821]
2. 2 [Option ID = 1822]

w\\“e



3. 3 [Option ID = 1823]
4. 4 [Option ID = 1824]

57 . . . . .
) Which of the following phenomena are not involved in global radiation balance?

(A) Pyranometer
(B) Anemometer
(C) Albedo

(D) Sensible heat

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (A) and (D) only

freaferfaa § o # gz v fafor dgem 9 mine 74 ¢

(A) T
(B) iz
(C)  HAwm=irsl

(D)  =EAEE OK\\\

Hr 2w e fasedt | | weE IugT IO 0 99 iy &\)

(L) A (A) iR (B) ‘ \e%

@ @) ) &

@ 3 xgﬁ)\;

(4) % (D)
[Question ID = 457][Question Description = Q57_Geog_sh2_Set1_A]
1. 1 [Option ID = 1825]
2. 2 [Option ID = 1826]

3. 3 [Option ID = 1827]
4. 4 [Option ID = 1828]

58) Identify the terms associated with ozone measurement
(A) Dobson
(B) Spectrophotometer
(C) Pyranometer
(D) Planimeter

(E) Anemometer

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only



(4) (D) ana (L) only

ST Fi O Fag TS wed) i ueE oo

(A)  SmER
(B)  wTErREHiE

(C) WA

(D) TR

(E)  wFame

H= f3u o fashegt | | @d I w99 Hia

(1) == (A) 3T (B)
(2) @FAd (B) ¥R (C)
(3) Fa= (A) #HE (C)

(4) = (D) ¥ (E)

[Question ID = 458][Question Description = Q58_Geog_sh2_Set1_A]
1. 1 [Option ID = 1829]
2. 2 [Option ID = 1830] \.)
3. 3 [Option ID = 1831]

4. 4 [Option ID = 1832]

59)  Which is not true regarding mountain climate of India? \\(\

(A) Sharp contrasts in temperature between the su : ded slopes
(B) Diurnal range of temperature 1s high &

A
(C) Uncertain character of r drought proneness and crop failures
(D) High temperaﬁ‘ nied by high humidity
Choose t propmate answer from the options given below:

and (C) only
(2) (B) and (C) only
(3) (A) and (B) only

(4)  (C)and (D) only
e 1 e e A et § B e w2

(A)  TF F HAtagE i agE 2 & aeEE § 9ET S

(B) Tz = ammE = wEn (39) Gt we

(C) =i i wAFifv=aar 5@ g os4 AR Fa @ 261 = T w6l 2

(D) aaamm%mw—maﬁamm

Hr 2w o fawedt | | GEE Iugw IO 0 99 I

(1) == (A) #7 (C)

(2)  #a (B) #iE (C)



(3) Fad (A) ¥W (B)

(49  F=9 (C) ¥ (D)

[Question ID = 459][Question Description = Q59_Geog_sh2_Set1_A]
1. 1 [Option ID = 1833]
2. 2 [Option ID = 1834]
3. 3 [Option ID = 1835]
4. 4 [Option ID = 1836]

60) Environmental determinism was criticised and opposed by
(A) Huntington on and Semple
(B) Vidal de la Blache and L. Febvre
(C) Humhboldt and Ratzel
(D) Ritter and L. Febvre
(E) Blache and Reclus
Choose the correct answer from the options given below:
(1) (A) and (B) only
(2) (B) and (C) only
(3) (D) and (E) only
(4) (B) and (E) only
o g T e i s iR e s
@ OQ\
(B)
()
(D)
(E)

(1) === (A) 3117 (B)

(2) == (B) #R (C)

(3) A« (D) #HE (E)

4y  Fa= (B) #F(E)

[Question ID = 460][Question Description = Q60_Geog_sh2_Set1_A]
1. 1 [Option ID = 1837]
2. 2 [Option ID = 1838]
3. 3 [Option ID = 1839]
4. 4 [Option ID = 1840]

61) Which of the following vegetation species do not pertain to Tropical Thorn Forests?

(4)
(B)
(©)
D)
(E)

Nirmali
Khejra
Tendu
Haldu
Babul

Choose the correct answer from the ontions e1ven below:



(1) (A) and (B) only
(2)  (C) and (D) only
(3)  (A) and (E) only
(4  (B) and (C) only

frafataa 9 @ St i FE-H 0 IOEREETE Foe 391 ¥ Taia T8 2 7

o B |

(A) e
B =@
© T
D) w7
(E) =9

i f3u U fasheqi 4 | @E IR W == I

(1) == (A) 4 (B)

(2) = (C) ¥t (D)

(3) A= (A) 3 (E) \)6\;
4)  Fa= (B) #T (C) 6\

[Question ID = 461][Question Description = Q61_Geog_sh2_Set1_A] . e
1. 1 [Option ID = 1841] \\

2. 2 [Option ID = 1842] (\

3. 3 [Option ID = 1843]

4. 4 [Option ID = 1844] &\)

62) The process of evaporation in ea@s affected by
(A)  salinity &Oﬁs\ |
(B) 1atitude\;
S
(DAwinds
Choose the most appropriate answer from the options given below:
(1) (A) and (B) only
(2)  (B) and (C) only
(3)  (B).(C) and (D) only

(4)  (A).(®B), (C) and (D)
HEETRE Wl H AT R TiA T Bl B -

(A)
(B) =
(C) itmw
D) =

Hr fou o foepedi § @ weE ST w1 9Ee i



(1) Ao (A) 3F (B)

(2) wEA (B) FR (C)

(3) = (B). (C) = (D)

@ (A, ®).(C) " (D)

[Question ID = 462][Question Description = Q62_Geog_sh2_Set1_A]
1. 1 [Option ID = 1845]
2. 2 [Option ID = 1846]
3. 3 [Option ID = 1847]
4. 4 [Option ID = 1848]

63)

world?

(A)

(B)

(©

(D)
(E)

Which of the following statements are incorrect about the growth of tourism industry in the

Steady growth in real incomes of the people in the world has contributed to growth of
tourism
Increased desire of the people to experience different cultures and landscapes has

contributed to tourism growth over time

Many countries have heavily invested in development of tourism infrastructure to

encourage tourism
There are little range of destinations open for the middle-income group trave]lw

People from developing countries now dominate the global tourism

O\
Choose the correct answer from the options given below: \\(\\ ‘

(1)
(2)
(3)
(4)

(), (B) only O(\
®). (C) only &(\)

(D). (E) only \
6‘?3

(A)

(B)

(©). (D), (E) only \
e o oz 3= F &Qﬁ{@? A H B0 HU TG A7

F @R i ARdtEE 9§ AT 9ty = arEe =

e i C 1B e o e L et T o e o e T e B - B B e D e et

w 3

(C)  "H2d =l WieaTed 54 7 To10 5 59 5 U=e weaedi sanyd 5oan F e 0 el e

(D)  w=A9 AE-T F A1 % o0 I F e {2

(E) 3fvgs vz § fTwmsi= 290 % = 1 o8 Tuea 2

4= fou U faweT 9 | 9 39 W 994 S

(1)  %ad (A) 31 (B)

(2)  Fa= (B) #J:(C)

(3) == (D) 3R (E)
(4) == (C). (D) 31 (E)

[Question ID = 463][Question Description = Q63_Geog_sh2_Set1_A]
1. 1 [Option ID = 1849]
2. 2 [Option ID = 1850]
3. 3 [Option ID = 1851]
4. 4 [Option ID = 1852]

64)

Who among the following were the believers of Environmental Determinism?



(4)
(B)
(©)
(D)
(E)

C. Darwin
Humboldt
Ratzel
Semple
Blache

Choose the correct answer from the options given below:

(1
(2)
(3)
4

(A). (C) and (D) only
(A). (B) and (E) only
(A) and (B) only
(A) and (E) only

FeAfAfEd 5§ FA-FE FaEeiE HveEas 8 Hvam agd 97

(A)  Hi. =rEe

(B) FEIrE

(C) ==

= 3
® = X\

(D
(2
(3)
4

A wpN =

65)

(A)
(B)
(€)

D)

4 [OptioRID 35

Hi= o T el § W BE 3w = i ‘(\e
= (A). (C) ¥ (D) O(\\\
Fae (A), (B) ¥t (B) é(\)

Fa= (A) AT (B)

\6‘”

1 [Option ID = 1853]

A (A) 37 (E)
[Question ID = 464][Question tlon = Q64_Geog_sh2_Set1_A]
2 [Optio)
3 [Opt
856]

Which one of the following is closely associated with westerlies?

Furious fifties
Boyle's gas law
Walker circulation

Rossby waves

Choose the most appropriate answer from the options given below:

(1)
(2)
(3)
(4)

(A) and (B) only
(B) and (C) only
(C) and (D) only

(A) and (D) only

Trefeifiga @ ¥ i U1 99T A TS g 2

(A)  TETS TEE (FREE )



(B) == = g Em
(C) IRt aiE=rm
(D) TEETE 9

= 15 Tu ool § @ HEH I9EF I R 9E A

(1)  ae (A) 311 (B)
(2)  #FaF (B) 3 (C)
(3) == (C) 3% (D)
(4) A (A) IR (D)

[Question ID = 465][Question Description = Q65_Geog_sh2_Set1_A]

1. 1 [Option ID = 1857]
2. 2 [Option ID = 1858]
3. 3 [Option ID = 1859]
4. 4 [Option ID = 1860]

66)  Match List T with List II :
List I List IT
Rivers Types of Delta
(A) Missisippi () Arcuate (\e
(B) Ganga (II) (\\\
(C) Narmada (IIT) @
(D) Tiber wstuarme
Choose the correct anaw %%ums given below:
(1 A - ﬂ} &p () == (D) — aAv)
(2 € -@m @O -av
— - @. (© - av. (D) - (IIm
(4 A-adv, B -dp (© —dn. O - @
Tt I T g=it 11 =1 faem it
T I il
et o2l % TR
(A) TEmEEdT @ =ER
(B) M (I) &t =
(C) =da (IIT) s
(D) 7w (IV) e
= f2u T e | w9 3 w1 99 i
(1) A-@O. ® - dn. (©) - dn. @O - Iv)
(2) @ -dn. B - dn, (©) - @, @O - IV)
(3) A-d. ® -@d. (© - av. (@O — dm
(4 A)—adv), (B) — dD. (€) — dI). D) - @



[Question ID = 466][Question Description = Q66_Geog_sh2_Set1_A]

1. 1 [Option ID = 1861]
2. 2 [Option ID = 1862]
3. 3 [Option ID = 1863]
4. 4 [Option ID = 1864]

67)

List IT

State

Karnataka
Karnataka
Andhra Pradesh
Himachal Pradesh

(ID)
@D
(D

D \ \.)éﬂ
F <\\‘\(\\eé

Match List I with List IT:
List I
Hydro power units
(A) Dehar @D
(B) Srizailam (IL)
(C) EKalinda (TID)
(D) Sharavathy (IV)
Choose the correct answer from the options given below:
1n @->0O @G’ -addv. © - dn. @O -
(2) A -av. & - dn. (© - dan, @O -
@ @-aw, ® - dn © —-dad @ -
4 @A-dn. @ -dy, (© —-av. @O -
Tt 1 % @1 g 11 %1 faer =il
T I il
A) == ZP
B) Hiem

(C) Hferdl
D) § &
1) @W- (B) — av).

@ @-av. @ - ad.
3  @-dv). (B) - .
4 @A-dDn. B - dn.

€ oo

I T TEA FAT

(C) — dD). (D) — D)
(€ - dD. O - @
© - dn. @ - @
G -av. M@ -d

[Question ID = 467][Question Description = Q67_Geog_sh2_Set1_A]

1. 1 [Option ID = 1865]
2. 2 [Option ID = 1866]
3. 3 [Option ID = 1867]
4. 4 [Option ID = 1868]

68 : ; ;
) Match List I with Last IT :

LastI
(A) Culture

(B) Cultural Complex
(C) Cultural Region

(D) Cultural Integration

@

(1D

(I1I)

(IV)

Last IT

Culture traits that are functionally
interrelated

Area that 1s distinct from surrounding
areas In specific characteristic

Specialized behavioual pattern under
standings and adaptation of a group

Interlocking nature of the sociological

¥ NG TR, e Y P | TRh. o] PREPLE . O,



LA LIV DAL CALLAL e
subsystem

Choose the correct answer from the options given below:

1 @-dn. ® -av. © -an. @O - @D
@ @w-ap ®-0O (©-d, O - advm
3 @W-0O @ -d. (© - dn. D) - av
@9 @wW-am ®-dh ©-ad O -0

Tt I @1y gt 11 %1 faem =hifsw
T L T I

(A) TEFi (D TEHias o =1 FEHR F9 B Sqgaid
=

(B) HEHTF AFA ) == &= 1 fafwe fEmmsl § amoTE s
T T e 2

(C)  F=Fias & (D) fafore =gaer Tedt ufaey @ag =i a9z 0
HHhH

D) TEFF T (V) = W, S s fgit w9

T S AR T éﬂ
A fou o faepedt @ wE S = i C‘E\‘\.)

L @-@n. ®-a. ©-am O -0 . 6
@ @-T) ®-O. (©-a. O -a) \\(\\
@ @-O ®-3d (©-an O -a Q

(4) @) —dv), B — an. (©) — dDh. (D) Q)
[Question ID = 468][Question Description = Q68 _&Se 1_A]
1. 1 [Option ID = 1869] ;

2. 2 [Option ID = 1870]

3. 3 [Option ID = 1871] O\ EEE
4. 4 [Option ID = 1872]
69) L@%ﬁdm 5 7.

st I List IT
(Social Movement) (State of Origin)
(A) Save Silent valley (I Jharkhand
(B) Chipko (I) Gujarat
(C) Narmada Bachao (IIT) Uttarakhand
(D) Jungle Bachao (TV) Kerala

Choose the correct answer from the options given below:

» A-0 ®-a, (© - dn, @O - av
2 @-dn. @ - dh. © - av. @ - @D
(3 @-dn @ -av. © -@O. @O - ap
4 @-av. & -dh. ) -da. @O - @D

o= [ % @y gt 11 1 e fire
gl 1 Tl 11

(mmita sTereE) (35m =)



(A) TF HEE del

(B) ==t

(C) =1 ==msT

(D) =T sl
4= 2 o faFe o TE IR F 999 Fi

(1) {A)—(I). By — (II)., (C) — (III).
(2) (A)—(II). (B) — {ID). (C) — V).
(3} (A) —(III). (B) — (IV). (C) — (I).
(4) (A)—(IV). (B) — (IID), (C) — (II).

O wrEs
D) T
(III) =7Es
V) =
D) — @)
D - @
D) — D)
D - @D

[Question ID = 469][Question Description = Q69_Geog_sh2_Set1_A]

A w N =

70)

1 [Option ID = 1873]
. 2 [Option ID = 1874]
3 [Option ID = 1875]
4 [Option ID = 1876]

Match List I with List II :

ListI

Arab Geographer

(4A) Al-Masudi

(B) AlIdrisi

(C) Al-Biruni

(D) Ibn-Khaldun

Choose the correct answer from the op

@D
(ID)
(IID)
(Iv)

SN

e LOW?

ER o

List IT

o

Kitab al Hind

Mugaddimah 4 7
Kitab M \ Q&b
Ta @ﬁan&

(1) (A) — (D, B (IDy
(2) (A) — (D), (C) — (IID), (D) — (1D
(3) (A %ﬁ(& = I, (G — av. @O - @O
(@ ‘®-0 ©-a @ -
Tt 1% =my g=ft 11 =1 fierm Fifem -
g 1 Tt I
(A) FFE-HEE @) Frama o= fe
(B) sE-zawi D) FFEE
(C) FAeA-TaeA1 (IIT) ToFamE g -Aa-g8H
(D) FH-TwA (IV) =gen A=t
= fzu o fashedi & w21 ST w1 =R A
(1) A-dD. B - adv). 0 -@O. O - {dn
2 @W-O ® -av). (©) - dn, D) - dn
(3) A-1n, @ —dIn., © - av). O - @
4) A)—av). @B —@. (©) — d), (D) — (I

[Question ID = 470][Question Description = Q70_Geog_sh2_Set1_A]



1. 1 [Option ID = 1877]
2. 2 [Option ID = 1878]
3. 3 [Option ID = 1879]
4. 4 [Option ID = 1880]
71) . . .
Match List I with List IT :
List I List II
Goals of National Water Mission Ttems
(A) Goal-1 (I) Basin level integrated water resource
management
(B) Goal-2 (II) Attention to vulnerable areas
(C)y Goal-3 (III) Water conservation by promotion of
citizen and state actions
(D) Goal-5 (IV) Comprehensive water data base
Choose the correct answer from the options given below:
(L @-0O, @6 -4ad (© - dn. O - av)
2 @-am ®-avm, © -@o. @O - Jm
3 @-dan ®-dnp © -@O. @O - av
(4 AQ—OV), G-l ©O)-a), O - O
Tt I = == I 1 faem Fifw \'\)é\*
T
T o fhem F =
(A) @F=E-1
(B)y ==a-2
(C) w#g-3 %
(Dy =&F-5 $O\a
M @ ®f - @, (© - 4, O - aV)
(2) -, B -av), © - @O @O — Jn
3@ @-dan ®-dnp ©-@O @O -adav
4 A-—-av), B - dh. ©)-an. @O — O

[Question ID = 471][Question Description = Q71_Geog_sh2_Set1_A]
1. 1 [Option ID = 1881]
2. 2 [Option ID = 1882]
3. 3 [Option ID = 1883]
4. 4 [Option ID = 1884]

72)

(A)
(B)
(©)
D)

Match List I with List IT:

ListI
Spectral Band
Blue

Green

Red

Thermal

List IT

Principal Applications
(I) Vegetation Stress Analysis
(I) Differentiating soil from vegetation
(III) Coastal Mapping

(IV) Vegetation discrimination

Choose the correct answer from the options given below:



1 @W-O ®-d. (© - d). @D - dv
(2 @W-dn ® -av. ) -a. O - @
3 @W-ad., ® -dv). © -@O. @O - dD
49 @W-av. @& - dn. © - ad. @O - ®d

=t I % @y g 11 1 e =i

i 1 T 11
@A) Hren (D =T zema faver
(B) = (1) ==t & gar-fass #w
(C) == (IIT) =HzAe &1 A=A
(D) = (IV) aerta farsdim

= o v el @ wE 3T o = i

» A@-0 ®-d. © -dn @O -av

2 @-dn ®-av. ¢ -am, M -d
3 @W-a. ®-am™W. ©-O @ - am \‘\)é

(4) A —aIvy, ® - dD, € - adn, @) - @ 6
[Question ID = 472][Question Description = Q72_Geog_sh2_Set1_A] Y e
1. 1 [Option ID = 1885] \(\\

2. 2 [Option ID = 1886] \
3. 3 [Option ID = 1887] \
4. 4 [Option ID = 1888] \)

73)  Match List T with List IT : %
ListI O\e List IT
Process & Parameter
(A Iﬁ%\é @ Sunspot
@ nder minimum (IT) Solar irradiance
(C) ABC (ITT) Palynology
(D) Pollen Grain (IV) Formation of layers of pollutants

Choose the correct answer from the options given below:

1  @-d. @ -dh © -av). O - @

2 @-ad. ®-0. (© -av). @O - dm
3 @W-ad. @® -av. © - @O. @O - {dIm
% @-a. ®-@0. (© - dn @D - av)

Tt 1% = gt 11 %1 faer =fifsw

T 1 T I
(&) TS (FEEE) @ FFEE
(B) ISt = () =R wE

(C) Tl (III) WPT=hoT Ue =Tt = seaa



(D) TR (IV) et =i T F 53

Hr= f3u U foepeat 9 wET 3 w0 == it

(1) @-@m, @ -dn, © -av), O - D
@ @-@m ®-O (© -av., (D - Jm
3 @A@-d. @® -aV. © - @. (D) - (Im
(4) A-am. ®-@0O. (© -Jdn, O - Iv)

[Question ID = 473][Question Description = Q73_Geog_sh2_Set1_A]
1. 1 [Option ID = 1889]
2. 2 [Option ID = 1890]
3. 3 [Option ID = 1891]
4. 4 [Option ID = 1892]

74)

Match List T with List IT :

List I List IT
(Peaks) (Range)
(A) Gurusikhar (I) MNilgir
(B) Dodabeta (II) Eastern Ghats
(C) Armakonda (IIT) Satpura
(D) Dhupegarh (IV) Aravalll

oY)
(2)
(3
@

(&) — @), (ﬁ@
?ﬁﬂI%Wlﬁﬁ@%ﬂ?w“ &
@@ T II

O\
Choose the correct answer from the options given below: K\\\(\\

A -1, @ - dIV). () - {dn, O — @D
A-IV). B - @O. (©) — dD. & 1)

@-a. @ - av. &% ©) - I
.

(D) — (1D

(A) T (D e
B) = (I i =12
(C) s (IIT) =33
D) 7T IV) sEeh
= fou o faeT @ wE 3 == A
1n @-am ®B-avm, © -dan O -O
@ @W-av. B -0O. (© -d, @O — db
3@ @-am ® -avm, © - @ @O — Jm
4 A-0av). B -dm. © -@O. (@O - Jm

[Question ID = 474][Question Description = Q74_Geog_sh2_Set1_A]
1. 1 [Option ID = 1893]
2. 2 [Option ID = 1894]
3. 3 [Option ID = 1895]
4. 4 [Option ID = 1896]



75)

Match List T with List IT :
ListI Tist IT
Relief Features Name of Oceans
(A) Puerto Rico deep (I) Pacific Ocean
(B) Sunda Trench (II) Atlantic Ocean
(C) Philippine trench (III) Indian Ocean
(D) Point Barrow (IV) Arctic Ocean

Choose the correct answer from the options given below:

(1 @A@-O. @ -d. (© - dn. @D - dTv)
2 @W-1OV), (B) - @D, (C) - dH, (D) - @D
3 @W-d. ®-an ©-@O @ -1V
4 @-dan ®d-dadv), © -@O. @O —d)
Tt 1 % =n gt 11 =1 foerm Fife
Tl I =i 1T

(A)
(B)
(C)

(D)

(== % wEy) (WETETET % )

=721 frft €M (deep) () wTa HEETE

gs1 @ () e Femm
feferdi = (W) Tam "wemrm \
a0 Al

i 50 U fawed | wE I H 99 i % &\(

(1)
(2)
(3)
(4)

A -O. (B - D (D) — AV)
(A) — (IV). fB) $ —-@m @O -@

‘a In. ¢y - @. @O — av)
5 : B =0k O =0 @O —ap

[Question ID = 475][Question Description = Q75_Geog_sh2_Set1_A]

A W N -

76)

1 [Option ID = 1897]
2 [Option ID = 1898]
3 [Option ID = 1899]
4 [Option ID = 1900]

Arrange the following in order on the basis of year of meeting report

(A) COoP21
(B) EYOTO protocol
(C) Firet Earth Summit

(D) IPCC Report

Choose the correct answer from the options given helow:

1 (©).®B). D). A
(2)  (B). (D). A).(©)
(3) (A). (C). (D). (B)

F Y MYs F"y S AY JIDON

o



b el A e N LS

Fre=feriaa 1 39 99 o2 % 99 % oW W e 0 =Eiead Firae)

(&)
(B)
©)

(D)

e

(1)
2
(3)
(4)

Hismdi - 21
ey . s
T gl T

e, ., =i, = foe

o o famedi § § BE T F 9 Hi

(C). (B). (D). (A)
(B). (D). (A4). (C)
(A). (C). (D). (B)
(D). (©). (A). (B)

[Question ID = 476][Question Description = Q76_Geog_sh2_Set1_A]

AN wnN -

77)

1 [Option ID = 1901] ;
2 [Option ID = 1902]
3 [Option ID = 1903] \)

4 [Option ID = 1904] 6

Which one is the correct ascending order of satellite sensors \Kﬁ@hlgher spatial
resolution? O(\
(A) REV of Landsat

(B) TM of Landsat

(C) LISS II of IRS-1C \e%

PAN of Iﬁ:\ﬂ) -
nswer from the options given below:

(1) (A). (D). (C). (B)
@ @A).©.®. D
3 D). A).®B).(©)
4 (B).).A).D

I= T E9eT & Ud 9 IUUE HAGH] F g § 5 6 | UF Ha A0E FH 5 7

(&)
(B)
(©)

(D)

=

(1)

FEy

st = A, o, o
H=de 9. g
e AR TH-1 H H U 37E v vy - 11

THEAM-2 1 9w vg (PAN)

50 TTU ey | A TR 3 1 =EE i

(A). (D). (C). (B)

fFAY Yy /Yy Ty



L= f 1 dfe L0 e LSS VAT

(3) (D). (A). (B). (C)

(4) (B). (C). (A). (D)

[Question ID = 477][Question Description = Q77_Geog_sh2_Set1_A]
1. 1 [Option ID = 1905]
2. 2 [Option ID = 1906]

3. 3 [Option ID = 1907]
4. 4 [Option ID = 1908]

78) Arrange the four Indian oceanic relief features in order of their location from north to south
direction

(A) Laccadive-Chagos ridge

(B) Chagos-Saint Paul ridge

(C) Amsterdam-5t. Paul Plateau

(D) Kergelen-Gaussberg ridge

Choose the correct answer from the options given below:

1) (D). (), B). A)
2 (0. (B). A). (D)
(3)  (A).(B).(C). (D)
4 (B (C). @A) D)

&= TEETR % 9F I=TEE A0 F I G iy = 3T I feut |

(A) FEEE-ATE T2F &\)

= fau o faweT 5 9 HE I =99 HIA

(L D). (). B). A

2  (©).(®B).A). D)

3 (A).B). (). D

4 (B (C). (A). (D)
[Question ID = 478][Question Description = Q78_Geog_sh2_Set1_A]
1. 1 [Option ID = 1909]
2. 2 [Option ID = 1910]

3. 3 [Option ID = 1911]
4. 4 [Option ID = 1912]

79) . . .
‘Which one of the following 1n the correct sequence in the development of German school of

thought?

(A) Ratzel-Paschal-Hettner-Troll
(B) Paschal-Ratzel-Hettner-Troll
(C) Ratzel-Troll-Paschal-Hettner



(D} Troll-Paschal-Hettner-Troll
(E) Hettner-Paschal-Troll-Ratzel

Choose the correct answer from the options given below:

1 A
2 (@B
3 (©
@4 @O

HHA 9ETEE 6 e | e 9 ° i o vk e wE A 7

(&)
(B)
(©)
(D)

(E)

fr=

I - 1286l - B2t - 2
S - 2 - I - 22e
2 - TR - F2E - g
FEEH - TR — 2 - teud

T30 T fehe Tl | H "Rl 39 R =E S
(A)
(B)

(©) | ®
O
[Question ID = 479][Question Description = Q79_Geog_%)A]

1. 1 [Option ID = 1913] i

b

2. 2 [Option ID = 1914]

3. 3 [Option ID = 1915] . \e

4. 4 [Option ID = 1916] &

80) Arrange @%%gionsfstates 1n ascending order of wind and cyclone damage risk zone
é

(A astern Coastal plain
(B) Rajasthan
(C) Most part of Maharashtra

(D) Karnataka (except coastal area)

Choose the correct answer from the options given below:

(1 @A.©.®3B.D
@ (0.B).A.D
3 D). (). ®B). A

@ B.0).D0O. &

TgH 3T TRATE W B aTel @i % T@a &9 1 AWE 6 § HeieEd @9/ T 0 SEeg e

(A) gl 9 HEE

(B)  TIEH

(C) He=mTe =1 ATaHar 9m

r 4



(D)

Fiesh (AP & H B

= fou U ool 9§ H@A I S = A

(1)
(2)
(3)
(4)

(A). (C). (B). (D)
(C). (B). (A). (D)
(D). (©). (B). (A)
(B). (C). (D). (A)

[Question ID = 480][Question Description = Q80_Geog_sh2_Set1_A]
1 [Option ID = 1917]
2 [Option ID = 1918]
3 [Option ID = 1919]
4 [Option ID = 1920]

A wnN -

81)

et gt

A

(&)
(B)
©)

(D)

As

the wave approach coast, the wave form changes radically,Which one of the following is

correct sequence of changes?

(A) Closely spaced crests

(B) Wave breaker \§
(C) Swash \\)é
(D) Back wash 6

1)
(2)
(3)
(4)

27

O\
Choose the correct answer from the options given below: (\\\(\

(B). (C). (A). (D)
(A). (D), (C). B) A(\)
©.®.0.® \6%

(A). B). (C). (

a@‘a%&ﬁﬁ’mmﬁmmﬁqmw%qﬁaﬁmﬁwﬁmﬁﬁﬁﬁﬁ

ELCICE]

e HE

H= fou o e 5 9 HE I 1 =9 HIHT

oY
(2
(3)
(4)

(B). (C). (A). (D)
(A). (D). (C). (B)
(C). (B). (D). ()
(A). (B). (C). (D)

[Question ID = 481][Question Description = Q81_Geog_sh2_Set1_A]
1 [Option ID = 1921]
2 [Option ID = 1922]
3 [Option ID = 1923]
4 [Option ID = 1924]

A wN =



82) The most accurate representation of culture units are given below. Arrange them from

highest to lowest

(A) Complex

(B) Realm
(8] Region
(D) Trait

Choose the correct answer from the options given below:

1 (B).(C). ). (D)
2 B.D).A.©
(3 (©), (A). D). (B)
@  ®.0©C). D). @A)

TEF THF F HAMGF T TAETae 1231 T 7| 399! I=a9 5 (a8 %9 1 =amegd Fiw

(A) e (i)

- e

@ ™ (%) \‘\(\e
= fau U fasedl 9§ 9 wE 3 @ = i, | OK\

O ®.© @.0
@  ®.0.A. O
@  (©. . 0.6 $
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= stion Description = Q82_Geog_sh2_Set1_A]

[Questi
1 [Optio\ ID_s#1925]
2 [Option"D = 1926]
. 3 [Option ID = 1927]
4 [Option ID = 1928]

AW N -

83 : : : :
) In concentric zone model, the correct order of zones from city core to periphery 1=

(A) Low-Class residential

(B) Whole sale lisht manufacturing

(C) CBD

(D) Medium-class residential

Choose the correct answer from the options given below:
1) (A). B (©). (D)

2  (B.(0). D). A

(3) (©). (B). (A). (D)

4 D). 3. ).\
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(1) (A). (B). (C), (D)

(2) (B). (C). (D). (A)

(3) (C), (B). (A). (D)

@ (D). B.(O). A
[Question ID = 483][Question Description = Q83_Geog_sh2_Set1_A]
1. 1 [Option ID = 1929]
2. 2 [Option ID = 1930]

3. 3 [Option ID = 1931]
4. 4 [Option ID = 1932]

84) The correct sequence of the states in ascending order In terms of Mangrov—:@&@é\;

COVerage area 1s

E; jjl:hra Pradesh O(\\\(\e

(C)  Odisha

(D) West Bengal

Choose the most appn@@&m the options given below:
O B an
( ( )

3)

( ). (A). (D). (C)
@ A).®B). D). (©)
Hoyr FEAfd e & W Z12 H e Tsl # SAnE we |
(A)  TTEm
(B) T
(C)  =Aifs=m

(D)  ofv=m smE

= fau o faweT 4 1 HE I F 99 S

1 B).A). ). D
2 A. 3. (). D)
3 (B A). D). ()
4 (A).3B). D).



[Question ID = 484][Question Description = Q84_Geog_sh2_Set1_A]
1. 1 [Option ID = 1933]
2. 2 [Option ID = 1934]
3. 3 [Option ID = 1935]
4. 4 [Option ID = 1936]

et The agricultural activities from the city centre to the periphery propounded by Von Thunen:
Arrange 1t
(A) Grain farming
(B) Market Gardening
(C) Three fold system
(D) Firewood and lumbering product
Choose the correct answer from the options given below:
(1) (D). (B). (A). (C)
2 A.®.©O).D
3 (©). D). A).B
(4)  (B). D). (A). (C)

(A) T A

. vk o™
(C) 3 &(\)

(D)  =ue ol RSt T FTERGA 3071

1)
(2)
(3) (C).(D).(A). (B)

4 (B).([D).®A).©)

[Question ID = 485][Question Description = Q85_Geog_sh2_Set1_A]
1. 1 [Option ID = 1937]
2. 2 [Option ID = 1938]
3. 3 [Option ID = 1939]
4. 4 [Option ID = 1940]

86) Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as

Reason (R)

Assertion (A) :Among the states of India Madhya Pradesh recorded highest percentage of
Scheduled Tribe population in census 2011.

Reason (R): Madhya Pradesh iz located in central part of India dominated by large area

under forests with least road connectivity and accessibility.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)



(2) bBoth (A) and (k) are correct but (K) 13 NOT the correct explanation of (&)
(3 (A) 13 correct but (R) 1s not correct

4 (A) 1= not correct but (R) is correct

= a BRIk ﬁ'p. m ﬁ| Teh TR (Assertion A) *F =9 § foffgd ﬁ i LR T FAT (Reason R) =+

Y

SRS A 9FA F TS 0, 95 989 A S0 2011 0 g 59 w0 i S # S=an 0

=z faFm|
FOOUR:  HEAUEW WRA & HeA 9T ° {Od 2 S TS 93 &9 § WA R 991 9%F ¥ GO 991 I5d
T T R

SHIF B F ATAF °, {4 150 0 e § 8 w9y 30 I R 94 i)

(1) A 3R R3FAI @31 2 3k R, A i &2 === 2

(2) AR RIA T4 2 91 R, A Fi 75 = 96 A

(3) A= 2 afe Rad 6 2 d‘*
(49 A= 2 A R g8 3 (E::\‘\)

1. 1 [Option ID = 1941] ‘

2. 2 [Option ID = 1942]

3. 3 [Option ID = 1943] \

4. 4 [Option ID = 1944] \)

% s Assertion (A) and the other 1s labelled as

Given below are two statements : O e%be ed a
Reaszon (R) é

Assertion (4) :Fiord 1 table location for a port.

Reaé@g‘l ¥ds are drowned glaciated valleys with narrow deep channels along the
coast.

In the light of the above statements, choose the most appropriate answer from the options

87)

given below:

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) is correct

fr 2 o fam mm 2| v AfaFus (Assertion A) % ®1 ¥ fafad # a1 390 39% FW0 (Reason R) &

L

AR A : T F o TS 39 T AR R

FAMR : s o Terafaa afeat 2@ 2 T59E a2 % fean @ehivl =4 anfesme 2l 21

IR FYH & AT 1, = 5 o fawent 8 8 mew 3w 3 w0 54 Fit)

(1) AR RaA o8 & 3t R, A 1 581 == 2



(2) A ¥R R TE E AL R, A i wEl == w5 R

(3) A =H 2 @7 R =& 6 7

(4 A %HTE 2 =t R 94 7
[Question ID = 487][Question Description = Q87_Geog_sh2_Set1_A]
1. 1 [Option ID = 1945]
2. 2 [Option ID = 1946]

3. 3 [Option ID = 1947]
4. 4 [Option ID = 1948]

88) Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R)

Assertion (A):  According to the 2011 census, the scheduled tribes accounts for 8.6 percent
of India’s population and are spread largelv in forested and hilly regions.

Reason (R) : The essential characteristics of scheduled tribe communities are primitive

traits, geographical isolation and economic backwardness.

In the light of the above statements. choose the correct answer from the options given

below:

(D Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A) M
) (A ke Tt ) i ele 6\‘\)
@) (A is false but (R) is true . (\e

= 91 ®ue fau o #| v AfHHYE (Assertion A) % =4 H %ﬁ?@@&w (Reason R) %

AT A : 2011 i SFFOET -%%m@m 4 FgEm Swraat # fF 8.6 ufawm 2 A

. . . = 2
A FA=alEd 0 Hel 7O Bl

FAI R : THIET % G [ 7 ey favrard, $hife e A1 i

I T F AT °, A9 @20 T Eeew 8 1 g9 39 H 994 |

(1) A 3R R =M T 2 31 R, A i 78 =men 2
(2) A ¥R R = a4 2 3R R, A Fi 581 =en 76 20
(3) AT E T R 58 7

(4) AweTE 2 o R 597 3

[Question ID = 488][Question Description = Q88_Geog_sh2_Set1_A]
1. 1 [Option ID = 1949]
2. 2 [Option ID = 1950]
3. 3 [Option ID = 1951]
4. 4 [Option ID = 1952]

89) Given below are two statements:

Statement I : All human actions associated with production. marketing and consumption
of goods and services are defined as economic activities.

Statement IT : All human actions linked not only with production, marketing and
consumption of goods and services but the time spent on leizure and

R -



pleasure acilvitles are also aellneda as eCconoinic actlvitles.
In the light of the above statements, choose the most appropriate answer from the options
given below:
(1) Both Statement I and Statement II are correct
(2) PBoth Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect But Statement II is correct
Hi= 71w Tou T 2|

FeA 1 ;A ot gedE niaEtE e g T S8 Sl Iee, e e 30 # 2 5
AT TTiatateE e w2

FeA I: 9 TR AEEE TG S 9 Fae w7 gaeT F I, = #E Ioam ° 6 g2 A
Fieah 3T U5 SR -UHE Fe TaEte ° gmEiad 2w S i aaaEtes w8 o9 a

ITE F2F F AEE 5, = BT GEeT 8 F 59E S0 3 =9 A

(1) = I 3fk II 2 =2 2
(2) #2131 51 e 2 &
(8)  #oF 1 TH 2, wifFa %2 11 e 2 6 \,\)
(4)  FHA I A &, A FeA 10 T8 2 . e
[Quest1on ID = 489][Question Description = Q89_Geog_sh2_Set1_A] \\(\
. 1 [Option ID = 1953]
2. 2 [Option ID = 1954]
3. 3 [Option ID = 1955]

4. 4 [Option ID = 1956]

90)  Given below are two statem
Statement I : whlch one plate slides beneath another plate is zone of
onve
S@ ea floor spreading becomes more prominent along the zone of
CONVErgences.

In the light of the above statements. choose the correct answer from the options given

below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1= true but Statement IT is false

(4) Statement I is false but Statement II is true
Hr= 7 FoE fgm mm F

FYAL ;. STAEI & A Wi 2 T v iz gE wie & A feas w2

FUTI0:  HATqETw &3 % TN GH5 AU H herid Afa® Y6t 7 =6 2

I YA F AT °, A G T fTwen 0 9 e S 9 1 =5 i)

o 3
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(2) A I 3R I 5T 390 2
(3) =2 I =ea 7, wireT e [T 160 7
(4 Fm I 99 7, @ Fed I A

[Question ID = 490][Question Description = Q90_Geog_sh2_Set1_A]

AW N -

1 [Option ID = 1957]
2 [Option ID = 1958]
3 [Option ID = 1959]
4 [Option ID = 1960]

Topic:- Geog_SH2_Set1_B

1)

Read the following passage carefully and answer the question given below

Climate change involves both internal and external factors. External one includes solar variability,
astronomical effects on the earth’s orbit and veleanic activity whereas internal one includes natural
variability in the system, feedbacks within atmosphere. ocean and land surface. Recently, human-
induced climate change on global and local scale has become a reality, primarily through changes in
atmospheric composition and surface properties. Climate changes involve continental drift, voleanie
activity and solar output. Glacial-interglacial cycles have been contreolled by astronomical
variations. The global temperature has increased by 0.5° C with greatest in the middle latitud

with warming particularly during the 1920 to 1940s and 1990s with several warmes :
to
anthropogenic factors causing changes in atmospheric composition. including aerdsol loading,

Long-term changes are ascribed to astronomical foreings. while short-term c

depletion of ozone, destruction of vegetation etc. Recently, climate chapge ictions with GCMs

ﬁ orvgreen house gases and
to 5.8°C, together with sea

diatlon. ocean processes atmospheric

are under taken for next 100 vears depending on emission sce

aerosols the mean global temperature may increase in
level rise. To conclude, critical resarch data on cloug co

coupling and feedback processes in the context change are required.

et T % smm m T @y %%
FerErg uitEdd 0 AEiE o) : M wftafe 2| o ®WE & AT O e, g & e W

qidig AT 2 @l A BAh % Sdd 9 B TTHAS GHAAS T a0

A NPYeE 1 afafEd st #) 2 % 9w 4 Afva it s TR geeEstE SeEr i

{ ot 2, Fomd o agHsHE Taed SR -Tee % T § 2 A Thads afstem #) weas

a4 weEdE v\, SegdE ThEEt @ aw G afmtem 2 - sfedm = w5 weE
ufEne FEEE Fd A #| gEseE armEE 0.5°C 991 SR AT § 9% Jig TeE A 993 S8 ¥ 5 7 AR
AT faEeE 1920 ® 1940 = a1 991 1990 % S99 % SN WS 99 HuE S0 T TF 8| S gl
FEO T ACEA FHOAE G 2| AR ACTHAF TG 1 FEG I THGS FEH T 2 A TEEsH

Aued ¥ UiEdd o 7, HA° UIETE 9RO, HTEE T A wi, S R 99 geana| #e 100 |9 % fom,
rd & Wy FoEg e i wrtasaEt fi @ 2| dEeeE T\ % Sta a9 UIEe SR W ST
1ooaﬁﬁﬁmﬁwﬁmm%uﬁmﬁl.4ﬁ5.s% 30 FH F WY-TY TEZ TOE ° O Ihg =A A
w9 2| R % R W FH %E Td 2 6 woae ufEds % med § g, At asmeiEm atbee,
TEHSHE AT A Figs® UEIH ° aiad 94 % 60 qEcauvl il Fi AEvEhdl 2

Which of the following activities do not accentuate short-term changes in atmospheric

composition?
(1) Aerozol loading (2) Astronomical forcing
(3) Loas of flora (4) Depletion of ozone

A HOZA § AFUHIcT® GHadl i HeEd § 8 Sl Tidfats a9 726 T il 2 7
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[Question ID = 491][Question Description = Q91_Geog_sh2_Set1_B]
1. 1 [Option ID = 1961]
2. 2 [Option ID = 1962]
3. 3 [Option ID = 1963]
4. 4 [Option ID = 1964]

2)
Read the following passage carefully and answer the question given below

Climate change involves both internal and external factors. External one includes solar variability,
astronomical effects on the earth’s orbit and voleanic activity whereas internal one includes natural
variability in the system, feedbacks within atmosphere, ocean and land surface. Recently, human-
induced climate change on global and local scale has become a reality, primarily through changes in
atmospheric composition and surface properties. Climate changes involve continental drift, voleanic
activity and solar output. Glacial-interglacial cycles have been controlled by astronomical
variations. The global temperature has increased by 0.5° C with greatest in the middle latitudes
with warming particularly during the 1920 to 1940s and 1990s with several warmest years.
Long-term changes are ascribed to astronomical foreings. while short-term changes linked to
anthropogenic factors causing changes in atmospheric composition. including aerosol loading,
depletion of ozone, destruction of vegetation etc. Recently. climate change predictions with GCMs
are under taken for next 100 yvears depending on emission scenarios for green house gases and
aerosols the mean global temperature may increase in the range of 1.4 to 5.8°C, together wi a
level rise. To conclude, critical resarch data on cloud cover, radiation, ocean proc é
coupling and feedback processes in the context of climate change are required.

C

§ | @
Trefertm T % AR WY e \(\
Feqay UitadA § SAAE AR " w amjaﬁqﬁ?lﬁlw { = ¥\ Wit ofadsfiomn, 9ot % %4 =
T T S e e Aataty S 2 FEt ; A T I ATHE SR T
Wwwﬁwvﬁﬂﬁmwamﬁ% ¥ T T W e Sear afeEd
3 %ﬁﬂtqmﬁwqwmqﬁwnﬁq{ﬁﬂﬂw

mwmﬁlmﬁﬁﬂmﬁ?ﬁqﬁaﬁmwwaﬂmma 2 F1 AEEETAA
WnWWWWWHWWWWWI ST 100 F9 F fom
Sy % WY FeEy UiEd $ siasEEt w91 w2 diEEy 1hi % Iease aun UEe & SHE 9 AT
1ooﬁﬁmWW%Wﬁl4ﬁ5fc 3¢ FH F WI-TU TS AR ° 41 Ihg 7 A
AYEAT 2| e 9 W EH % Ehd @ (6 Serdy uiEdd & ged 0 gurE, fater, gEmeiiE i,
AHASAE THA AR FISsE TEAA H Gaiad Wy F o0 AEeayvl Sws F AETEwal 7

Which one of the following rates of increase have been observed in global temperature in
recent times?

1)  1.0°C @) 1.4°C
(3)  0.5°C (4) 5.8°C

=TS % TEE § YASed amnH § Hefeiad 1 8 :6-5 9ig w2 e 2 e

(1) 1.0°C (2) 1.4°C

(3) 0.5°C (40 5.8°C
[Question ID = 492][Question Description = Q92_Geog_sh2_Set1_B]

1. 1 [Option ID = 1965]
2. 2 [Option ID = 1966]



3. 3 [Option ID = 1967]
4. 4 [Option ID = 1968]

3)

Read the following passage carefully and answer the question given below

Climate change involves both internal and external factors. External one includes solar variability,
astronomical effects on the earth’s orbit and volcanic activity whereas internal one includes natural
variability in the system. feedbacks within atmosphere, ocean and land surface. Recently. human-
induced climate change on global and local scale has become a reality. primarily through changes in
atmospheric composition and surface properties. Climate changes involve continental drift, voleanic
activity and solar output. Glacial-interglacial cycles have been controlled by astronomical
variations. The global temperature has increased by 0.5° C with greatest in the middle latitudes
with warming particularly during the 1920 to 1940s and 1990s with several warmest vears.
Long-term changes are ascribed to astronomical forelngs. while short-term changes linked to
anthropogenic factors causing changes in atmospheric composition. including aerosol loading,
depletion of ozone, destruction of vegetation etc. Recently, climate change predictions with GCMs
are under taken for next 100 yvears depending on emission scenarios for green house gases and
aerosols the mean global temperature may increase in the range of 1.4 to 5.8°C, together with sea
level rise. To conclude, critical resarch data on cloud cover, radiation, ocean processes atmospheric
coupling and feedback processes in the context of climate change are required.

Treaferio T % ST WYy T R

] ARER H AR S STE FE g AfHtoa #| ST H % S 8 ahEded, g & w5
A TaE AN A i A § wEih A Bl Sad a9 i A
A, TEWETE 371 qUee i TiaEeand sl 2] 21 % 991 § dva® 30 THE - T W
T=E T T e 7, 9O gee: aHeeE geed A 4-uZe & on ° A

uﬁﬁmﬂ%@ﬁmm,mﬁr@%nﬁﬁf&ﬁrﬁmmg
UfEda FEfE Fa e 2| gaeem auE 0.5°C a9 3N A |
A foeea 1920 | 1940 #F sty qum 1990 + 9 4

7 Ao Tex weAen ¥ £E 2 = oft

FU] R IR ] HET A 2| 6 AT 1 TEY 3 qEGE B H 2 A1 agaSEiE

qued § giEdd o B, Sg U
e # =y Fea

%Wq?ﬁ‘ﬂ Tl {9 FeAE | S 100 @9 % T
| T R ST T E | HFEEE 18 6 ScEes 991 a4 T 9 e
%uﬁmﬁ1.4ﬁ5.s°c g #H F WmY-TY THg Taw 4 6 ghg 7E A
T FE TFd 7 % Feay TREdd & Hed § "o, fafEn, semmrm afmeme,

.ﬁﬁfﬁmmﬂmmﬁw HEeagel HATHSI il ATETTEAT 7

Which of the following elements is not associated with climate change?

(1
(3)

Solar varability (2) Upwelling interactions

Voleanic eruptions (4) Astronomical periodicities

FreAfetiEd @ | FiA-81 Ag9d o THadd § geiad T8 8 7

(1)  =r giteeeiiem (2) = % W AN H THETieE
(3)  TAETHEE T=hE (4) T FEa

[Question ID = 493][Question Description = Q93_Geog_sh2_Set1_B]

1 [Option ID = 1969]
2 [Option ID = 1970]
3 [Option ID = 1971]
4 [Option ID = 1972]

A W N -

Read the following passage carefully and answer the question given below

Climate change involves both internal and external factors. External one includes solar variability,

nq‘t’rnhnm'ir“.:ll ﬂ#‘ﬂf‘fﬁ‘_ Fatal f‘i"lﬂ DQT“'}\,E n'l‘:i"l"lf QTIR vrﬂr-s:n'ir! QI‘H‘."if‘i" "Ii’hﬂ'l"ﬂ'.;lﬂ 'i'l'l"'l:l'l"ﬂﬂ.l a1 aT=1 :I'Y\I‘TI'IAQE nnfnrnl
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variability in the system, feedbacks within atmosphere. ocean and land surface. Recently, human-
induced climate change on global and local scale has become a reality, primarily through changes in
atmospheric composition and surface properties. Climate changes involve continental drift, voleanie
activity and solar output. Glacial-interglacial cycles have been contreolled by astronomical
variations. The global temperature has increased by 0.5° C with greatest in the middle latitudes
with warming particularly during the 1920 to 1940s and 1990s with several warmest vears.
Long-term changes are ascribed to astronomical forelngs. while short-term changes linked to
anthropogenic factors causing changes in atmospheric composition. including aerosol loading,
depletion of ozone, destruction of vegetation etc. Recently. climate change predictions with GCMs
are under taken for next 100 vears depending on emission scenarios for green house gases and
aerosols the mean global temperature may increase in the range of 1.4 to 5.8°C. together with sea
level rise. To conclude, eritical resarch data on cloud cover, radiation, ocean processes atmospheric
coupling and feedback processes in the context of climate change are required.

TreATeTToT T % ST WYy T R

T A § A AR 9T wEE ZE Ao §) ST B & A9 SR aiEdaeied, 9o & e W
TE TG W SAEgE A Tt S § el AT Bl % Aad a9 i hfaE qiadaeiedr aur
ATESH, NEMTE 1 qUzet i Tfaeeard St 21 216 % 991 § dva® 30 THE W W SEaEd Seard TiEd

= AR o AE 2, faed g ardsde duea wih y-ued & i d 2R A fad afufa #) weem
uftEdAl # wEgdE vEE, saemEE tfaata @ g e ot 2 Eedm- sraifEeda sl w5 e
TfEne FEEE Fd A # | gEseE amAE 0.5°C 971 SR aTE § 9% Jig F9E A9 953 S8 ¥ 5 7 aR
AT A 1920 ® 1940 1 @19 91 1990 % F99%F % 30 e a9 HEY AU TH 1 2| A

O AR TEA AT AGT B HEF AT OHad F SEY 34 G aﬁ%
HHeA § THEed ofd 7, SH UUHE WA, HAMHE SO R, a9 R VY\ 100?1&?71%117

o TEN W3

q-TY TE Haw ° O g AN A
W:lm&tﬁfﬁim ‘ Tz 9 muram, fafeor, gemrrE afEme,

AFHSHE THA :ﬂ?ﬁ?ﬁ’ﬁyﬁ?ﬂﬁﬁéﬁh@%ﬁﬂ Hecqol TSI 1 AETTHAl 7

Which of the following c & s essentlal for future research with respect to climate
change?

® r@%\saemng

(2) off modelling

(3 Computer modelling
(4) Atmospheric modelling
e s 1 s e T e e e B w2
(1)  FoAETA-TEdt e
(2) A FHeEiEm
(8)  FE fauiiem
(4)  FEEEeE FHEE
[Question ID = 494][Question Description = Q94_Geog_sh2_Set1_B]
1 [Option ID = 1973]
2 [Option ID = 1974]

3 [Option ID = 1975]
4 [Option ID = 1976]

A W N =

Read the following passage carefully and answer the question given below

Climate change involves both internal and external factors. External one includes solar variability,

T Sl P e R R S e et T R R e Ten e Ll T S A L T e e e T S e T T e e L T T T R e o I o e e T ol
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variability in the system. feedbacks within atmosphere, ocean and land surface. Recently. human-
induced climate change on global and local scale has become a reality, primarily through changes in
atmospheric composition and surface properties. Climate changes involve continental drift, volecanic
activity and solar output. Glacial-interglacial cycles have been controlled by astronomical
variations. The global temperature has increased by 0.5 C with greatest in the middle latitudes
with warming particularly during the 1920 to 1940s and 1990s with several warmest vears.
Long-term changes are ascribed to astronomical forcings., while short-term changes linked to
anthropogenic factors causing changes in atmospheric composition. including aerosol loading,
depletion of ozone. destruction of vegetation etc. Recently. climate change predictions with GCMs
are under taken for next 100 yvears depending on emission scenarios for green house gases and
aerosols the mean global temperature may Increase in the range of 1.4 to 5.8°C. together with sea
level rise. To conclude, critical resarch data on cloud cover, radiation, ocean processes atmospheric
coupling and feedback processes in the context of climate change are required.

Tt T S AR W YT e T R

T URATT ° IARE A S FEF 2E DA # ST FRH F S SR SREdied, 95 F o W
TAE THE S SAEEE T A 2 el AaAE E AT aF 6 Whid® IeEdeien adn

ATESH, HETETT 31T Wuzel il Ufaimans et 21 26 & a9 ° 4iva i wEE SR W aEasEd ey aiadd

T IR A S 7, ToHH gedd: aEusdE d9ed i §-uge & T ° 7F 9 qiEdd @it 21 Fead
uftad A HERME TAE, SEEE Tt S g9r e afmtag 2| fEdE- semiEeeE wm o me

uitaed fFrfE @ s ) gaee™ amee 0.5°C 5@ # arE § 497 Jig 5ee st qe de 8 6 2
A e 1920 ® 1940 i i @ 1090%%%%?@%@%’%@%%

FIU TR ATFAT W OHFET AE B FEF ACTHE  GiEdA] 1 HEy II'I’—l—FsF'J FEAAE
100 =91 % feu
TEE % 9T W3

TEed ° IiEd | 8, 98 U 9O, SAEE 8w, aeata
s & wY Fearg aiadd T wiiasEnEt S S @ # | e g
100 @1 & 3iiaa YHse™ a9aF & 9t § 1.4 3 5.8°C ”
wYET 2| R % R W EW e wd & ﬁi—fﬁm Hed H HuEo, Ao, sEmEeEE afwee,
AHASAA THA AR Frsa T | wE T TR TP Y ST 2

Which one of the foll w@ ; mean global temperature Increase range till the year
2100? q
% 80

1.4-5.8°C
(4) 2.0-3.0°C

m@x—mmwwﬁ%ﬂqﬁ'éﬁﬁ

T4 2100 T 4 YHSE™ AHE ¥ 915 F U (range) R @ ® FE-T7 77

(1)  0.1-2.0°C
(2)  1.5-4.8°C
(3) 1.4-5.8°C

(4) 2.0-3.0°C
[Question ID = 495][Question Description = Q95_Geog_sh2_Set1_B]
1. 1 [Option ID = 1977]
2. 2 [Option ID = 1978]

3. 3 [Option ID = 1979]
4. 4 [Option ID = 1980]

Topic:- Geog_SH2_Set1_C

1)  Read the following passage carefully and answer the question given below

PopuLatmn Geography. a sub field of Geography. studies spatial vanatmns in dlstmbutlon.
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demography in geographic perspective.

If focuses on questions such as where populations are found and how the size and
composition of these populations in regulated by demographic processes of fertility,
mortality and migration contributions to population geography are cross-disciplinary.
Disciplines other than geography contributing to population geography include demography,
sociology and economics.

Since its inception. population geography has taken at least three distinet forms. The
earliest emerging in the 1950s, focused on the systematic study of population distribution as
a whole and spatial variations in dynamic characteristics of population. Trewartha, Zelin
sky, W.AV Clark and other from U.S.A. and J.B Garnier and Pierre George in France
Pioneered this phase.

Population geography has widered its scope to cover different variety of themes with time. It
studies various population characteristics including gender. religion age. disability racrete
by grouping population characteristics into political and administrative units. All such
variables go far beyond the vital statistics of births. deaths and marriage /migrations.

Geographers have studied relations between demographic growth, displacement and access
to resources at the International scale. Examples are density maps prepared using
choropleth, 1soline and dots.
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Which of the following vital statistics 1s related with demographic characteristics of
population studied in Population Geography?

(1) Apge and sex

(2) Religious composition and race

(3) Birth. deaths, marriage/migration

(4) Literacy and workforce

TAeAfeEa § O UF B T A e gl Al Arel ST e s H A S P
= FAATE (A S A
(1) =/ 3 fem
(2)  aH= HEe #E T
(3) ¥4, g, Taaw /v
(4) =T R HEEE
[Question ID = 496][Question Description = Q96_Geog_sh2_Set1_C]
1. 1 [Option ID = 1981]

2. 2 [Option ID = 1982]
3. 3 [Option ID = 1983]



4. 4 [Option ID = 1984]
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Read the following passage carefully and answer the gquestion given helow

Population Geography. a sub field of Geography. studies spatial variations in distribution.
composition, migration and growth of population to the terrain. in a way it involves
demography in geographic perspective.

If focuses on questions such as where populations are found and how the size and
composition of these populations in regulated by demographic processes of fertility,
mortality and migration contributions to population geography are cross-disciplinary.
Disciplines other than geography contributing to population geography include demography.
sociology and economics.

Since its inception, population geography has taken at least three distinet forms. The
earliest emerging in the 1950s, focused on the systematic study of population distribution as
a whole and spatial variations in dynamic characteristics of population. Trewartha, Zelin
sky., W.AV Clark and other from U.S.A. and J.B Garnier and Pierre George in France
Pioneered this phase.

Population geography has widered its scope to cover different variety of themes with time. It
studies various population characteristics including gender. religion age. disability racrete
by grouping population characteristics into political and administrative umits. All such
variables go far beyond the vital statistics of births. deaths and marriage /migrations.

Geographers have studied relations between demographic growth, displacement and access
to resources at the International scale. Examples are density maps prepared using
choropleth. isoline and dots.
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Which one of the following group of disciplines. other than geography. has contributed

significantly to studies in population geography?

(1) Psychology, Anthropology and History

(2) Anthropology, Statistics and Sociology

(3) Sociology. Demography and Economics

(4) Economies. Sociology and History

Wil & AT Heteigd 8 ° e fm-ags 3 SHEen 9ie % 75997 | geeaget 3o 7 27
(2)  Hfae, e st g

(3) TSI, A S ST

(4) w1, TOTEITE 3R e



[Question ID = 497][Question Description = Q97_Geog_sh2_Set1_C]
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1 [Option ID = 1985]
2 [Option ID = 1986]
3 [Option ID = 1987]
4 [Option ID = 1988]

Read the following passage carefully and answer the question given bhelow

Population Geography. a sub field of Geography. studies spatial variations in distribution.
composition, migration and growth of population to the terrain, in a way 1t involves
demography In geographic perspective.

If focuses on questions such as where populations are found and how the size and
composition of these populations in regulated by demographic processes of fertility.
mortality and migration contributions to population geography are cross-disciplinary.
Disciplines other than geography contributing to population geography include demography.
sociology and economics.

Since its inception, population geography has taken at least three distinet forms. The
earliest emerging in the 1950s, focused on the systematic study of population distribution as
a whole and spatial variations in dynamic characteristics of population. Trewartha, Zelin
sky. W.AV Clark and other from U.S.A. and J.B Garnier and Pierre George in France
Pioneered this phase.

Population geography has widered its scope to cover different variety of themes with time. It
studies wvarious population characteristics including gender. religion age. disability racrete
by grouping population characteristics into political and administrative umits. All such
variables go far bevond the vital statistics of births, deaths and marriage /migrations.

Geographers have studied relations between demographic growth, displacement and access

choropleth. izoline and dots.
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Who among the following is not a U.S. Geographer ploneering population geography as a

part of spatial science?

(1) G.T. Trewartha (2) Pierre George
(3) Wilbur Zelinsky (4 W.AV. Clark

frefefaa 4 @ =i fage 2 fooe wnfs fage & 9 % =9 4 S9aEn gia ®1 A §gE 9 98
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[Question ID = 498][Question Description = Q98_Geog_sh2_Set1_C]
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1 [Option ID = 1989]
2 [Option ID = 1990]
3 [Option ID = 1991]
4 [Option ID = 1992]
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4) Read the following passage carefully and answer the question given below

Population Geography. a sub field of Geography. studies spatial variations in distribution.
composition, migration and growth of population to the terrain, in a way 1t involves
demography In geographic perspective.

If focuses on questions such as where populations are found and how the size and
composition of these populations in regulated by demographic processes of fertility,
mortality and migration contributions to population geography are cross-disciplinary.
Disciplines other than geography contributing to population geography include demography.
sociology and economics.

Sinee 1its inception, population geography has taken at least three distinet forms. The
earliest emerging in the 1950s, focused on the systematic study of population distribution as
a whole and spatial variations in dynamic characteristics of population. Trewartha, Zelin
sky. W.AV Clark and other from U.S.A. and J.B Garnier and Pierre George in France
Pioneered this phase.

Population geography has widered its scope to cover different variety of themes with time. It
studies wvarious population characteristics including gender. religion age. disability racrete
by grouping population characteristics into political and administrative umits. All such
variables go far beyond the vital statistics of births, deaths and marriage /migrations.

Geographers have studied relations between demographic growth, displacement and access
to resources at the International scale. Examples are density maps prepared usi:ng
choropleth. izoline and dots.
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In which of the following decades. Population Geography greatly focused on the systematic

study of distributions and spatial differentiations in various attributes of population
characteristics

(1)  1950s (2) 1960s
(3)  1980s (4) 1990s

f=fafa 5 @ FFe oo 9 SEen w1 S e g9 sEen fi Semae & fafie aa |9
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(1) 1950 F For=H (2) 1960 F ZHH
(3) 1980 % zoHH (4) 1990 % ZowH

[Question ID = 499][Question Description = Q99_Geog_sh2_Set1_C]
1. 1 [Option ID = 1993]



2. 2 [Option ID = 1994]
3. 3 [Option ID = 1995]
4. 4 [Option ID = 1996]

5) Read the following passage carefully and answer the gquestion given below

Population Geography, a sub field of Geography. studies spatial variations in distribution,
composition, migration and growth of population to the terrain. in a way it involves
demography in geographic perspective.

If focuses on questions such as where populations are found and how the size and
composition of these populations in regulated by demographic processes of fertility.
mortality and migration contributions to population geography are cross-disciplinary.
Disciplines other than geography contributing to population geography include demography.
sociology and economics.

Since its inception. population geography has taken at least three distinct forms. The
earliest emerging in the 1950s, focused on the systematic study of population distribution as
a whole and spatial variations in dynamic characteristics of population. Trewartha, Zelin
sky, W.AV Clark and other from U.S.A. and J.B Garnier and Pierre George in France
Pioneered this phase.

Population geography has widered 1ts scope to cover different variety of themes with time. It
studies wvarious population characteristics including gender, religion age. disability racrete
by grouping population characteristics into political and administrative umts. All such
variables go far bevond the vital statistics of births. deaths and marriage /migrations.

Geographers have studied relations between demographic growth, displacement and access
to resources at the International scale. Examples are density maps prepared using
choropleth, 1soline and dots.
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Which one of the following population characteristics does not belong to vital statistics?

(1) Births (2) Deaths
(3) Age and sex (4) Marriage /migration
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[Question ID = 500][Question Description = Q100_Geog_sh2_Set1_C]
1. 1 [Option ID = 1997]
2. 2 [Option ID = 1998]
3. 3 [Option ID = 1999]
4. 4 [Option ID = 2000]



Topic:- GP14_A

Consider the following table which contain number of blood samples given in bracket

collected by a hospital to identify blood group in a particular month. Based on the data in the

W\ table answer guestion.
Hospital Hospital | Hospital | Hospital | Hospatal 1 D&
(W) | X Y| 2 s

g o iaen (1000) | (500) | (1000) | (500) @)‘u’\\

Blood group - — — -

" / Y

A Positive 300 150 350 100 8 Wy

B Positive 350 100 300 100 / ﬁ/’
\_}- A Negative ~ 150 |[ 50 150 50
' B Negative ~ 100 50 50 | | [150
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[Question ID = 4588][Question Description = Q01_GP_01NOV_S1_SHAAN]

1. 1[0

ption ID = 18352]

2. 2 [Option ID = 18353]
3. 3 [Option ID = 18354]
4. 4 [Option ID = 18355]

2)

AT | AT | AT | H AT
W X N Z ~
(1000) | (500) | (1000) | (500) \)
A Titstea 300 150 350 100 6 E )
. ,
B Titstzd 350 100 300 100 \\(\
A 150 | 50 | 150 | 50 O(\
B it 100 50 50 150 &(\)
\)’éich hospital reported highest 2 5 group?
(1) Hospital Y (2) Hospital X
(3)  Hospital Zes (4) Hospital W
il e e
(1) FEATE Y (2) ¥ X
(3) AT Z (4) FHOIA W

Consider the following table which contain number of blood samples given in bracket

collected by a hospital to identify blood eroup in a particular month. Based on the data in the

table answer guestion.

Hospital Hospital | Hospital | Hospital | Hospital
W X ' Z
e pario (1000) | (5000 | (1000) | (500)
Blood group
A Positive 300 150 350 100
B Positive 350 100 300 100
A Negative 150 50 150 a0
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W X Y Z
/(1000) (500) | (1000) | (500 255 O
/
A uitates 300 150 350 100
B witstza 350 100 300 100 @
At 150 | 50 | 150 50J LW s R
B it 100 50 50 150 Fm 35

What 1s the percentage ot A-Negative f%om the total number @ood samples collected?)
(1) 14.22 (2) 18.00

3 1333 (4 14.33

U 60 U T o TgAT i el Wed § H Al T 998 & haq giaed 2 ¢
(1) 14.22 (2) 18.00

(3) 13.33 (4) 14.33

[Question ID = 4589][Question Description = Q02_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18356]
2. 2 [Option ID = 18357]
3. 3 [Option ID = 18358]
4. 4 [Option ID = 18359]

3) Consider the following table which CE &c\c\% of blood samples given in bracket

collected by a hospital to 1dent-1f)§l' in a particular month. Based on the data in the

table answer guestion, \ {

Hospital | Hoshit Hospital | Hospital | Hospital
‘ % | W X A Z

Rﬁ (1000) (500) (1000) (500

Bl oup

A Positive 300 150 350 100

B Positive 350 100 300 100

A Negative 150 50 150 a0

B Negative 100 50 50 150
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w X Y Z
(1000) | (500) | (1000) | (500)
300 | 150 | 350 1003 :
350 | 100 | 300 | 100
k 150 | 50 | 150 50] 5
100 50 50 150
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What 1s thc—f A-positive cases to A-Negative cases? D\W ) W
(1) 5:8 v 9:4) W
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[Question ID = 4590][Question Description = Q03_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18360]
2. 2 [Option ID = 18361]
3. 3 [Option ID = 18362]
4. 4 [Option ID = 18363]

4) Consider the following table which contain number of blood samples given in bracket
collected by a hospital to identify blood group in a particular month. Based on the data in the
table answer guestion.

Hospital | Hospital | Hospital | Hospital | Hospital

W X i Z

e (1000) | (500) | (1000) | (500)

Blood group
A Positive 300 150 350 100 éﬂ
B Positive 350 100 300 100 6\\)
A Negative 150 a0 150 50 e |
B Negative 100 50 50 150 \‘\(\ ‘

Q

A R T -TEAT S FEE A A 2 7
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AHATT | ag T
v\lﬂ*&@
Wil Y z —\\§e

feie TN, %&»} (500) | (1000) | (500) =

RELIEL s3]

/! v = = \m

A TS 2/ 300 150 350 100 A

= = 7 a /N

Bai=za 350 100 200 100 RN -

A il 150 | 50 | 150 | 50 N V4

B =iz 100 50 50 150
What i1s the percentage @itive cases from the total positive cases reported?
1 14857 (@) 47.57
(3)  49.51 4 46.11

i fu T T wifafea 4t & B-witatea e &1 gfaed e 27
(1) 4857 (@) 4757
(3)  49.51 4 46.11

[Question ID = 4591][Question Description = Q04_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18364]
2. 2 [Option ID = 18365]
3. 3 [Option ID = 18366]
4. 4 [Option ID = 18367]

5) Consider the following table which contain number of blood samples given in bracket

collected by a hospital to identify blood eroup in a particular month. Based on the data in the
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table answer guestion.

Hospital Hospital | Hospital | Hospital | Hospital
W X X Z

Segeie (1000) | (300) | (1000) | (300)
Blood group

A Positive 300 150 350 100

B Positive 320 100 300 100

A Negative 150 50 150 a0

B Negative 100 50 50 150

e =i g arfer w1 SeEE L THEE . A gE T A9E W 9 S % foe T e a0

U TR T - AT 1 FIEE A 4l TE 2 | arerhl J {50 T SRSl % HhE WOueE % 3o G |

AT | 3T | AR | AW

W X X Z
|@000) | (500) | (1000) | (500) ) 26
]
300 150 350 | 100
350 100 300 100
150 a0 150 50
B ifea /100 50 50 | 150
What 1s the percentage of blood d group repor 1ep01‘ted in the table? \QQ
(1) §2.12 '— 3€3
(3) 84.33 (4)
?ﬁ%?ﬁr %
(1) 82 12 83 33
(3) 84.33 84 12
[Questi %.les ion Description = Q05_GP_01NOV_S1_SHAAN]
. 1 [Opti
2 2 [Optiol 8369]

3. 3 [Option ID = 18370]
4. 4 [Option ID = 18371]

Topic:- GP14_B

1) Which among the following is not related to the characteristics of co operative learning?

(1) Experiences that develop good learning and zocial zkills

(2) Students feel overloaded with too much work in groups
(3 Building positive relationships with students
(4 Provide individual attention and assistance to one another

TAetettas ﬁﬁww@wﬁ%ﬁgmﬁﬁﬁaﬁ@\/
(1) =8 s ain ot wive B st B T e~
®) mwaﬁwﬁﬁlfwmn?azt{maﬂ%\

(3) maﬁm'fmawm-ﬁmmm/

(4) Tk gEL Bl AT S G HEEAT S

v’

[Question ID = 4593][Question Description = Q06_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18372]
2. 2 [Option ID = 18373]
3. 3 [Option ID = 18374]
4. 4 [Option ID = 18375]
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2) The principle “Students learn together. but perform alone” 1s an example of :

(1) Individual accountability / (2) Positive interdepende&e

(3) Face-to-face interaction (4) Group processing

-_— e

“farmmeff Hfigd ok A E W, " fugia Bt © 9 e o 2

(1)  =afFaa =1ad (2) HFATHF FaHEEAT

(3) AT B F] ST (4) wHE TR

[Question ID = 4594][Question Description = Q07_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18376]
2. 2 [Option ID = 18377]
3. 3 [Option ID = 18378]
4. 4 [Option ID = 18379]

3) Mateh List I with List II

List1 Last II
Model of Teaching Developer
(A) Positive Interdependence (I)  Fannie Shaftel
(B) Structured inqguiry (II) David Johnson
(C) Role playing (III) Donal Oliver and James
(D)  Jurisprudential inguiry (IV) Robert Slavin

Choose the correct answer from the options given below :

Shaver

(1) (A)-(ID. (B)-I). (C)-(IV), (D)-(D)

- X\ \éﬂ
yone in the

in working together and that
ividual learning and working

etter when they are done in

(2) (A)-(ID). (B)-(IV), (C)-(I). (D)-(1II) group that ther q
(3) (A)-(IV)., (B)-(D). (C)-(III), (D)-(ID the results o %
@) (A)D. (B)-ID), (C)-D), (D)-(IV) product
coll
-1 % W F=-11 F1 e Fir é‘
T=-1T
(A) Wt I
(B) ECEREIR e
() : . (ITT) SH&A AeaT {7 S 9=
(D) A1 S (IV) T2 w=raa

= 50 U Tl § W HE S S A i,
(1) (A)-(IIT). (B)-(IL). (C)-(IV). (D)-(I)
(2) (A)-(II). (B)-(IV). (C)-(I). (D)-(III)
(3)  (A)-(IV). (B)-(I). (C)(III). (D)-(IL)
(4) (A)-(I). (B)-(III), (C)-(II). (D)-(IV)

[Question ID = 4595][Question Description = Q08_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18380]
2. 2 [Option ID = 18381]
3. 3 [Option ID = 18382]
4. 4 [Option ID = 18383]

4) Which of the following methods are learner — centered teaching methods?

(A)  Active learning

(B) Co opel'aw

(C) Inductive teaching and learning

(D) Paszive learning


91956

91956
Positive interdependence is the belief of anyone in the 

group that there is value in working together and that 

the results of both individual learning and working 

products would be better when they are done in 

collaboration.
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Choose the most appropriate answer frgm the options given below :

(1) ( (A). (B). (C) only (2) (B).(C). (D) only
(3) (A) and (D) only 4y (A). (C), (D) only

Fferiad § ° wF = At - des bt 27

(A)

T fou U fashedi @ @ mEE IUgEd I R 999 HIA0

1) (F== (A), B). (©) ) (2) Fa« (B). (C). (D) \)é\;

(3)  Fa (A) 3R (D) (4) =ae (A). (C). (D) 6

[Question ID = 4596][Question Description = Q09_GP_01NOV_S1_SHAAN] \‘\(\e

1. 1 [Option ID = 18384]

2. 2 [Option ID = 18385] ( (\
3. 3 [Option ID = 18386]

4. 4 [Option ID = 18387] &\)

2 Various kinds of thinking are enhan articular models of teaching. Concept formation
1z one such model which train e problems inductively. Identify the correct sequence of
stages for concept form®s

categories with common attributes of members

(B) dé i : topic / problem
(C) reloping labels for catergoriei/

(D)  Enumerating the data relevant to topic / problem \/

Choose the correct answer from the options given below :

1) (A). (B).(C), D) @) (B). (C). (A). (D)
\/m/ (B). (D). (A), (C) @ (D). (A). (). (B)

W%%&gnﬁﬁﬁ%ﬁaw%%ﬁﬁq@ﬁ{; TFET] T A1 TF AT5S 7 A ATEATES
EY T HEE SN w5 A 247 & | TS HE % 907 % 961 %0 i 95EH Hiay

(A) w3l HEE % WEE T AT H
®) (s /awen #i gz=r)
T e a—l

= fau Tu foe | W HE 3 S =9 it

(1) (A). (B) .(C), (D) (2) (B). (C). (A). (D)
3 (B). D) A, © / @ (D). (&), (©). B
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[Question ID = 4597][Question Description = Q10_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18388]
2. 2 [Option ID = 18389]
3. 3 [Option ID = 18390]
4. 4 [Option ID = 18391]

6) When a respondent 1s aware of being measured then its effect on his behaviour iz identified
as
(1) Self — consclousness (2) Reactivity e
(3) Artificiality (4) Identity effect

5 W I STAT oh1 = R HTY WM S SRR BT B, A1 36 SAaER T THT THE R WA el W6l B 7

— —\\“
O @ (ot
(3)  Fbma (4) TEEE T9E

[Question ID = 4598][Question Description = Q11_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18392]
2. 2 [Option ID = 18393]
3. 3 [Option ID = 18394]
4. 4 [Option ID = 18395]

S~

Summarising and interpreting primary studies related to the identified research question or

objective 1in a qualitative manner 1s called : 6\;
(1) Qualitative review (2) Realistic review 6\‘\)

(3 Narrative review (4) Meta review
gl

AfUE o9 TTA AU 3ga7A W wEiaa WAt e Wﬂﬁnw m F
1 Fl A1 6 \

7)

(1)  Tomess gAiE 2) T

%
[Questlon ID = 4599][Question Descr1pt1 } 01NOV_S1_SHAAN]
. 1 [Option ID = 18396] §

z. 2 [Option ID = 18397]
3. 3 [Option ID = 18398] ‘
4. 4 [Option ID = 18399]

8) f adllowing techniques are used to control extraneous variables in research?

—_—

(A) Change of instrument
(B) Randomisation
(C) Matching

(D)  Removing variables

(E) Changing the research method

Choose the correct answer from the options given below :

1) (A). (B). (C) only \/@/ (B), (C). (D) only
(3)  (C). (D). (E) only (4) (A). (B), (E) only

ey § a@mm; Tafa #77 = fou featetga 5 9 =4 = a1 &1 T=e 5 s 27

(A)  FUET T THE
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(E) =i fafr =1 afafda =

S T3 T el § O R IO % 98 S

(1) === (A), (B) #11 (O) (2) Fad (B), (C) 31 (D) /
(3) e (C), (D) ¥ (E) (4) == (A), (B) =1 (E)

[Question ID = 4600][Question Description = Q13_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18400]
2. 2 [Option ID = 18401]
3. 3 [Option ID = 18402]
4. 4 [Option ID = 18403]

9) Given below are two statements : One iz labelled as Assertion (A) and the other iz labelled as

Reason (R) :

Asszertion (4):  Unique case orientation is possible in gualitative research which may later
lead to cross — case analysis.

Reasons (R) : Deszign flexibility is the hallmark of qualitative research as it is open to

situational changes.

In the light of the above statements. choose the correct answer from the options given bw&
(1) Both (A) and (R) are true and (R) is the correct explanation of (A) >

(2) Both (A) and (R) are true and (R) 12 NOT the correct explanai\&im

(3) (A) is true but (R) 1= false O&\

(4 (A) 1s falze but (R) is true ’ \)

= 2wy fau w2, ww AAfimae (‘A?@%ﬁwg%ﬁﬂ%?ﬁwaﬂ%w (Reason R) %

AR (A) : gim ¥ o v e v 3 Rl a3 So-wiba () Redw @
2

W{E{a AT = TIEE T TR e 2 it e et w@edt aftads B wd
|

ks

I HIA F A H, A= 2 e Fen 5 H #9139 #1999 i

(1)/(91}3?3? (R) 21 &3 £ 3 (R), (A) i1 =&t =7 2|

(2)  (A) #l (R) 291 @ 2, = (R). (A) =i ot = 78 2 |

3 (A) T@eq 2, =i (R) 2189 2 |
(4) (A) 393 2, @9 (R) e 21

[Question ID = 4601][Question Description = Q14_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18404]
2. 2 [Option ID = 18405]
3. 3 [Option ID = 18406]
4. 4 [Option ID = 18407]

10) Match List I with List II :
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List I List II

Tyvpe of validity \/ Reflection \/
(A) Face Validity (I)  Indicates adequacy of instrument
(B) Concurrent validity (I) Indicates the extent to which the

measurement is used

(C) Construct (III) Compares a new test to an already

established test.

(D) Predictive (IV) The extent to which a score on a scale

forecasts scores on same criterion

measure
Choose the correct answer from the options given below : % ("
—
(1) (A)-(I). (B)-(II). (C)-(III). (D-(IV)
(2) A)-(II), (B)-(III), (C)-(IV), (D)-(D)
(3) (A)-(IT). (B)-(IV), (C)-(I), (D)-(IT)
) (A)-(T). (B)-(I1T). (C)-(ID), (D)y-(IV)
T=H1-1 % @y =11 %1 foem Fifse
g1 g1

S 1 e (freerr) \ \)6\;

(A) wema (FE) dumn \/ — (D 39=Av i I9FTAl H Gehd 6

(B) W—W Wﬁ%ﬂmww e
(C) = (ITT) = 7T 1 e g g

@) g mr)g% = frm T T

3 fou g freredl & & @ ST %@%
(1) (A)-(T)., (B)-(IT)., (Cy(TT K
(2) (A)-(ID). (B) % (D) @D

(3) (O)-(D. (D)-ID
(4 ) (I1I), (O)-(II). (D)-(IV)

[Question ID = 4602][Question Description = Q15_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18408]
2. 2 [Option ID = 18409]
3. 3 [Option ID = 18410]
4. 4 [Option ID = 18411]

L gt O

) This is me’ aspect of communication reflects :
(1) The audience preference (2) ( The speaker’s personality J
(3) The ego-centric attitude (4) The low level of confidence

(2) | = =1 =afFac
(4) 177" favam = = ==

[Question ID = 4603][Question Description = Q16_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18412]
2. 2 [Option ID = 18413]
3. 3 [Option ID = 18414]
4. 4 [Option ID = 18415]

12)  The golden rules that communicators should follow are :

/" (A)  They should be aloof
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(B) They should take sides
(C) They must be heard
(D) They must be understood /

(E) They must be appreciated /

Choose the correct answer from the options given below :

(1)  (A).(B). (C)only (2) (B). (C). (D) only

(3) (D). (E) (A) only (4) ((C). (D), (E) only
(&) == faem == =fee |

(B) 3% % u& = =R |

© Gmmmamd v

(D) ?mmmhy

(E) 33w s = /
—

P S S £ Y 6\;
(1)  #F= (A). (B). (O) (2) Fa= (B). (C), (D) / 6\‘\)
® wom WGmonw) 7 o

.
[Question ID = 4604][Question Description = Q17_GP_01NOV_S1_SHAAN] K\\\(\

1. 1 [Option ID = 18416] «

2. 2 [Option ID = 18417]
3. 3 [Option ID = 18418] ;
4. 4 [Option ID = 18419] &(
S
13) Given below are two state 56\@ elled as Assertion (A) and the other iz labelled as

Reason (R) :

Assertion : %mmunication competence 1z related to the power of knowledge in a
g ‘ assroom.

Readfnz (R) : Communication competence permits cholces of communicating as required

—_—

in the classroom context.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (4) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 12 NOT the correct explanation of (A)
(&3] (A) 1s true but (R) 12 not false

(4) (A) is falze but (R) is true

= =1 F9F fau o £, vF afgFuT (Assertion A)F €9 § fofgd & a1 L 39% #10 (Reason R) %

E'JEI

ST (A) : ﬁﬂ'@%ﬁﬂﬁmﬁﬁﬁﬁﬁfﬁﬁﬁ%l\/

Fr (R) : UG WEHAT WAl G H AU HUY i % fawed U T

e
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ITE YA T AT 4, 99 B T e | 9 w8 3w o =5 i

(D ( (A) =R (R) ZH1 Tea & &R (R), (A) i =@ == |

(2)  (A) ¥ (R) 21 9ca &, | (R), (A) it ol = T8 2 |

(3) (A" E, A (R) 78 2|
4) (A 3@EF 2, 9T (R) 57 2

[Question ID = 4605][Question Description = Q18_GP_01NOV_S1_SHAAN]
1 [Option ID = 18420]
2 [Option ID = 18421]
3 [Option ID = 18422]
4 [Option ID = 18423]

A wnN =

14 ; ;
) The sequence of elements in a clazarcom speech 1s :

(A) Introduction /’\ ? B>
—

g o
(B) Description /

(C) Feedback

- 05

(D)  Clarification / v V\‘\)
(E) Conclusion 6

s (\e i
Choose the correct answer from the options given below (\\\
. _ N/
(1) (A). (B). (C). (D). (E) , (Bi. (A). (C). (E), (D)

(3  (C). (D). (A), B). (E) \GW(A}. (B). (B). (C). (D)
HEFTA W & ﬁwﬁq@%@ﬁ
— % -

A)

(B)

(D) /
® (i)

= fau T fa=wed § | wEl 3 # = Fie

(L (@A), B). (©). (D). (E) 2) (B (A), (O). (E), (D)

(3) (0. (D). A). (B). (E) 4) (A). (B). (E). (C). (D)

[Question ID = 4606][Question Description = Q19_GP_01NOV_S1_SHAAN]
1 [Option ID = 18424]
2 [Option ID = 18425]
3 [Option ID = 18426]
4 [Option ID = 18427]

A wpN =

15) ateh List Twith Tist IT -
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List I List IT

Scholal Communication variable
(A) Adi Shankara _— (I)  Importance of grammar .
(B)y Bharatha Mum\ / £II}) Concept of ‘raza’
(Cy Paninmi III) Use of native language
(D) Ramanuja { Intra personal communication

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(ID). (C)-(I). {'D}-{III)
(2) (A)-(ID). (B)-(III). (C)-(TV). (D)-(I)
(3) (A)-(IIT). (B)-(IV). (C)-(T). (D)-(IT)
(4) (A)-(I). (B)-(ID). (C)-(III). (D)-IV)

TH-1 % Ty gI-11 =1 foes =it
! -
fagm T =
(A) =iz T (I) =AT F GEca
(B) wid g D ™ =it sEaEm
(C) Tt Zaft AT 1 W=

(D) TEEA ) TR T 6\;
Fr= fzu v foment § @ @R S = Fif \‘\)
1 _A)-av). B)-an. (O)-D. M)-IID) 6

(2) (A)-(II). (B)-(III). (C)-(IV). (D)-(I) s e
(3 (A, B)-aV), (©)-O, D)-1D (\\\(\

() (A)-(I), (B)-(I1D), (C)-(ILD). (D)-(IV)

[Question ID = 4607][Question Description = Q20_GP_0 O\S)(SHAAN]
1. 1 [Option ID = 18428]
2. 2 [Option ID = 18429]

3. 3 [Option ID = 18430] e%
4. 4 [Option ID = 18431] O

16
The numbe1 s ne rest to 3105 and exactly divisible by 21 1s : @

(2) 3108
} 87 4) 3107 OM

ﬁwﬁ,ﬁﬁﬁmoﬁﬁﬁmﬁnmm@h:ﬁwmﬁwﬁ%? D\/
1 8101 (2}- %
(3 3087 3107

A
[Question ID = 4608][Question Description = Q21_G 1NOV_S1_SHAAN] & %

1. 1 [Option ID = 18432] P

2. 2 [Option ID = 18433] L\0¢

3. 3 [Option ID = 18434]

4. 4 [Option ID = 18435] \\ A 3
17)  Given below are two statements : 3]0 %

Statement I: To convert a speed given 1n m/s into a speed in km/h, we multiply with 5/18.

Statement IT: To convert a speed given 1n km/h into a speed in m/s, we multiply with 18/5.

e —

In the light of the above statements. choose the most appropriate answer from the options
given below :

(L) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect \/
(3) Statement I 1s correct but Statement II 18 incorrect

(4) Statement I 1s incorrect but Statement II 12 correct

fHAFEErwE -
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o (1) : Tt /= &1 72 = =i diet /9%s = ° sged F (o 29 18/5 3 7o i 2

IUEAFE FYA & A A, A= 150 T A § O wee T9gT 3T = i
(1) =8 a1 g od 7 |
(2) w0 I 7ed 2 |
(3) @A IEA 2, A Hue [T 7 |
(4)  wua I7ed 2, A A ILEe 2 |
[Question ID = 4609][Question Description = Q22_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18436]
2. 2 [Option ID = 18437]

3. 3 [Option ID = 18438]
4. 4 [Option ID = 18439]

v

18 ; ; =\
) How many terms are there in the following sequences? - J
. =L @
A B . 4036/ T
1 12 @ 13 \

-
3) 14 @ 15 Yo (=) b,]
i faw o s fﬁi@ ﬁY/

PN

/s, N __i\_"‘//'— \§
1 [0 A 2 . 4096
i MBI (o

(3 14 4) 15
) ) e\ \
[Question ID = 4610][Question Description = Q23_GP_01NOV_S1_SHAAN] .
1. 1 [Option ID = 18440] \\

2. 2 [Option ID = 18441] (\
3. 3 [Option ID = 18442]
4. 4 [Option ID = 18443] E \)

)
19) /. — Y
The value of ',||51|'5\|' fwr B.... (oot @% \/ e \SN /
I 5 (2) 6 “«L./ \/
(3) 45 (4) 6.78 .
SN - G
% >
5 2. (o0 1) =1 9 w41 B Y A~ 6%"
(0 ( 5 ) (2) 6 ’_A :
(3 4.5 (4 6.78 N

[Question ID = 4611][Question Description = Q24_GP_01NOV_S1_SHAAN] —
1. 1 [Option ID = 18444]
2. 2 [Option ID = 18445]
3. 3 [Option ID = 18446]
4. 4 [Option ID = 18447]

20) Riatal Taut Twith Tanb Il

ListI List IT
(A) Supplementary angles (Il Angles lesz than 90°
(B) Complementary angles (IT) Two angles whose sum is 180°
(C) Acute anglez (ITI) Angles greater than 90° but less than
180°
(D) Obtuse angles (IV) Two angles whose sum 13 90°

Choose the correct anzwer from the options given helow :
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(1) (A)-(ID), (B)-(ID. (C)-(D), D)-IV)
(2) (A)-(IV), (B)-(II), (C)-(III), (D)-(1)
(3)  (A)-AI), (B)-IV). (C)-D). (D)-AID)
@ (A, (B)-IV), (O)IID), (D)-D)

-1 % |y ge=Ai-11 1 faem ifae -

g1 g=-11
(A) FEF F (@D Qwﬁﬁsﬁm
B) Ffg o 1I) ﬁﬁmﬁﬂ;ﬁm(}”%ﬁﬂﬁl
(C) = Fm (1) 90° & fas g 180°° 0 = =i
(D) fe® = IV) = =i fem 7 900 5 2 1

Hr= f2u T et § ® wEl IE W 9= S -

(1) (A)-(TT1). (B)-(IT), (C)-(T), (D)-(IV)

@  (A)-aV). B)-aD. (O)-ID. D)-0) éﬂ

3) W \‘\)

) (A)-(IT). (B)-(IV). (C)-(IIT), (D)-(T) Y 6
[Question ID = 4612][Question Description = Q25_GP_01NOV_S1_SHAAN] \‘\(\\6

1. 1 [Option ID = 18448]
2. 2 [Option ID = 18449]
3. 3 [Option ID = 18450]
4. 4 [Option ID = 18451] &\)

21) Given below are two statements %
Statement I: There iz s laid on the material aspects of inference by the
expon a system.
Statement II re 18 greater stress laid on the format aspect of the sylloglstic expression

estern logic.

% ove statements. choose the correct answer from the options given below :
(1 Statement I and Statement II are true /

(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II is false
(4) Statement I iz false but Statement IT i= true

= 71 A fgw o E

Fo ([): =09 Tgid = =) g1 SHAF * Aifas TeaH Wt se fean S g |
Fo (I) : TTT=Ted % | —Aah] Afqeatad & ATHeR Tee W S 9 e # |
IR U ATEE 4, A= B T ey A @ wE 3w o = i

(1 aamﬂﬁmaﬁ:ﬁw%ui

2 wuE [ A s 2 |

(3) A I@ea B, oAf w9 11 380 2

(4) aﬁmlam%,a%zmﬂw%l

[Question ID = 4613][Question Description = Q26_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18452]
2. 2 [Option ID = 18453]
3. 3 [Option ID = 18454]
4. 4 [Option ID = 18455]

22) (Given below are two statements :

Statement I: The evaluation of an argument invelves two steps namely evaluating the link
between premises and conclusion and evaluating the truth of the premises.

Statement II: Deductive arsuments in which the conclusion actuallvy follows from the
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_— premises are said to be valid. and those that also have true premises are
said to be sound.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I 12 true but Statement I 1s false
(4) Statement I 1z false but Statement II is true

F97 (1) : %&F{ﬂ%%mﬁ O IS B E AU AEm-aeE N e F A meg
mewmel - -

wo (1) :  Fmarens a5, T Fepd sman-—amal § andias =9 8 el &, 949 % 96 & A7 9
SR~ i W Bl o Fgg A e o & |

Wmm%mﬁ,ﬂ%ﬁgwﬁﬁﬁaﬁmwwﬁﬁq:

(1) %= I3k I 2H &7 7 |

2  FF IR I3 oA E |

(8) A 19 2, wife e I 37aes 2 |

(4) = I ¥EeT B, witeT we I e 2 |

[Question ID = 4614][Question Description = Q27_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18456]
2. 2 [Option ID = 18457]
3. 3 [Option ID = 18458]

4. 4 [Option ID = 18459] E *

23) When 1s a series of terms said to be in the order of increasing extension? 6
(A) When each term in the series (except the f:trst) denotes a clgs® Pﬁ%re members
than class denoted by the term preceding it. K\\
(B) When the class size gets larger with eac Z ‘“SN
(C) When each term in the series 1: the first) denotes a class having less members
than the class deno ed recedlng it.

(D) When the cl;ss Size Mets smaller with each successzive term

=)

(1) Only (A) and (B) are correct (2)  Only (B) and (D) are correct

ropriate answer from the options given below :

(3) Only (C) and (D) are correct (4y  Only (A) and (D) are correct

Tl T-2mgeT 1 Sigd 5U FH § e 0 A1 A 7

i%} = A T UeAF U (TUW 9% F S5 S THAd 95 g [rE = 5 wifue wee A i R

Hiee =@ 21

\9/ T T F AN TAF IeaaA] U5 9 @S w6l A6

(C) = 4@en ¥ i 0 (TUH 9T Sigt) S et ug g ik F 2 )
(D) =9 & AN TEEF IeEdl U5 A DI A @ 2
= fou U TaEeT 5 | HEl 39 o =99 i

(1) = (A) #1 (B) T8 2 (2) == (B) 31 (D) 991 2

SOy B h, T . LGN . | 7 [, M. TSy R MR, ) S T 3
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[Question ID = 4615][Question Description = Q28_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18460]
2. 2 [Option ID = 18461]
3. 3 [Option ID = 18462]
4. 4 [Option ID = 18463]

24 : ; ; ; %
) In case of anumana (inference) 1dentify the sequences of five steps of syllogistic argument

according to Nyaya:

(A) The mountain has fire

(B) The mountain also has smoke accompanied by fire, like kitchen

(C) Therefore the mountain has fire

—

(D) Because of amoke

(E) Wherever there 1s smolke. there is fire, as in the kitchen

Choose the correct answer from the options given below :
(L)  (A).(B). D). (E). (C) (2) (A). (D). (E). (C), (B)

(3)  (B). (D). (E). A). () \L40/ (A). (D). (E). (B). (C)

| e

aﬂﬂﬁﬁamﬁﬁmm?saﬁuurquq | g% = (EATeRa O =T ] FAEEN 7

o Gy O o™
(B) T@EEW i WE TS W AT F WY umﬁ%@&(\)

© el s 0@0\@(‘9

guﬂiw @

2 g <aﬂm=ﬁﬁ%mfmm‘t§mn?‘mﬁ®

Fr fau T fedi # 8 weE S9gE I R 9E i

(1 (A).(B). D). (E). (©) (2) (A (D). (E). (C). (B)

(3)  (B). (D). (E). (A). (C) \)/ (A). (D). (E). (B). (C)

[Question ID = 4616][Question Description = Q29_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18464]
2. 2 [Option ID = 18465]
3. 3 [Option ID = 18466]
4. 4 [Option ID = 18467]

25 :
) Given below are two statements : /

Statement I: Relationship of invariable concommitance (vvapti) can be claimed to exist

between two things if they are causally related.

Statement II: Relationship of invariable concommitance can be claimed to exist between
two things if they are related as species-genus.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I 12 true but Statement IT 1= falze

aw T e q oy e R
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[Question ID = 4617][Question Description = Q30_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18468]
2. 2 [Option ID = 18469]
3. 3 [Option ID = 18470]
4. 4 [Option ID = 18471]

26) 1n computers ASCII stands for :

(1) Algorithm Selection Code Information Interchange \\{\“&
(2) Asympatatic Sorting Code Intermediate Interface éﬂ
(3) American Standard Control Information Interchange / \‘\)
\/(/{)\ American Standard Code for Information Interchange \ 6
O\
FeE § U UH | 37 9% (ASCII) 1 7 T HET £ 7 OQ\\(\

4. 4 [Option ID = 18475]

27) A reputed company employed Mr. Harsh to manage and maintain their networking
architecture and wide area connectivity. Which of these best describes his job profile?

(1) Programmer (2)  Architect
(3) Networking engineer (4) Web designer

L e o
AZA=RTT AR I L

Tt ufafea s args uftay wAfFfEE % uey w g * o o wd
ﬁﬁﬁﬁﬂ@lﬁmﬁﬁﬁﬂﬂﬁﬁ?—mmmﬁﬁﬂm GIRIN

(2)  onfEewe (argEn)

(Featdn it / @) = feamEm

[Question ID = 4619][Question Description = Q32_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18476]
2. 2 [Option ID = 18477]
3. 3 [Option ID = 18478]
4. 4 [Option ID = 18479]

28) Given below are two statements :
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B

Statement I: Operating system 1s a set of program necessary to carry out operation for a

specified application.

Statement II : Hardware represents the physical and tangible parts of the computer.

In the light of the above statements. choose the correct answer from the options given below :

() Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement I1 1s false

(4) Statement I 1= false but Statement II 1= true

31 YA few T #

Fo (D) : wﬁ%mxam@ﬁ%
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(1) =w=FIARIISA &7 |
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(3) 9 1O B, =g =y 11 3me 2 | E\§
4) ﬁmIW%,%ﬁm%mHW%/ \‘\)
[Question ID = 4620][Question Description = Q33_GP_01NOV_S1_SHAAN] 6

1. 1 [Option ID = 18480] . e
2. 2 [Option ID = 18481] \\

3. 3 [Option ID = 18482] (\

4. 4 [Option ID = 18483] O

29)

Multimedia files are the documents that onta&&éirmation of :

(A) Text O\e '
(B) Photographt $
D= >3

Choose the correct answer from the options given below :

(1) (A). (C). (D) only ) (A). (B). (C). (E) only

(3) (A (B). (C). (D) only 4 (B). (C). (D). (E) only

O HITEa] BT 9 S ¢ A Heieiad & SarEE a6 #

(&)

(B)

(&)

D)

7z (1)
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(E) =it

1= fau U e | | =R 39 R 999 AT

(1) === (A). (C). (D) (2) =a= (A). (B). (C). (B)
(3) ==+ (A). (B). (C), (D) (4) === (B). (C). (D). (E)

[Question ID = 4621][Question Description = Q34_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18484]
2. 2 [Option ID = 18485]
3. 3 [Option ID = 18486]
4. 4 [Option ID = 18487]

30 Given below are two statements :

Statement I: A Webinar allows a speaker from the hosting organization to share
multimedia content with audiences that can be located any where.

Statement IT: A Webinar allows speaker and participants to share multimedia content
located any where. éﬂ

In the light of the above statements. choose the most appropriate answer from &AX}

given helow : e

(1) Both Statement I and Statement II are correct K\\\(\

(2) Both Statement I and Statement I are O

(3) Statement I is correct but State &.ﬂcm "rect

{4) Statement I 1s In ﬁ\a’,ement II is correct

frt =1 Fo fog o F

ma“i@%mmﬁﬁm@mmm%ﬁﬁmm%aﬁ%maﬂﬁﬁﬁmﬁm

1 AT T THA 2 | /
For (1) : AfFR F A1ea8 | a9 o7 afaari et w=m W safem gt T = g =
ST FY % A §, 419 150 T fawedl § A geH 39T S 1 54 i
(1) = L3 = =6 2 |
(2)  wF IR A T 2 |

(3) = IO 2, =il e I 7o 2 |

(4) Foq [ e 2, A o [LHE 2 |

[Question ID = 4622][Question Description = Q35_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18488]
2. 2 [Option ID = 18489]
3. 3 [Option ID = 18490]
4. 4 [Option ID = 18491]
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31)  Which of the following are characteriatica/properties of permanent hardness in water?

(A) Presence of bicarbonates of calcium and magnesium

(B) Prezsence of sulphates of caleium and magnesium

(C) Forms good lather when comes in contact with soap

(D) Presence of chloride of calcium and magnesium

(E) Can be removed by boiling the water

Choose the correct answer from the options given below :

(1)

(3)

(B). (C) and (D) only (2) (A) and (D) only

(A). (B), (D) and (E) only (4) (B) and (D) only

et H Ul watar i Hefatad § 9 FF d e/ 27

e

(A)  hiewmm s BfAfEy & sewmEqeg S e |

B) e st AT % wem A e

(C) 1§ % HUF H 3TH T Agd T 30 FAT 7 |

(D) Wwﬁﬁmﬁmﬁﬁmﬂh/ OK\
(E) 30 5T =l IsTeisht g T4 =1 Henell 2 |

%
:ﬁmwm@x@%

% %ﬁ(m @) ¥ (A) 3R (D)

T (A). (B). (D) 37 (E) (4) (B) 371 (D)

[Question ID = 4623][Question Description = Q36_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18492]
2. 2 [Option ID = 18493]
3. 3 [Option ID = 18494]
4. 4 [Option ID = 18495]

32)

The Environment (protection) Act. 1986 was the result of India’'s commitment. to take
appropriate action for the protection and improvement of environment. at the :

(1)
(2)
(3)
4)

1985 Vienna convention for protection of ozone layer

Convention on long range trans boundary air pollution. 1983 3 /

Convention on international trade in endangered species. 1975 (CITES)

United Nation's Conference on the human environment. Stockholm. 1972 \/

iy (FeEvn) sifatEe, 1986 Fefaiad § ° B ores § 9EiE % @E S g 2 stEa s

WA % AU HEA I Aiqegar 1 9nong 9 ?

D
2
(3)
(4)

S WA % W = o7 famEn FeeE, 1985
S Fi % HHT-UR 9 9 W Hee, 1983
AT TG AT SR W weeE, 1975 (H e & 2 )

TS THET T Ga9d 77 TS e, 1972 ~
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[Question ID = 4624][Question Description = Q37_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18496]
2. 2 [Option ID = 18497]
3. 3 [Option ID = 18498]
4. 4 [Option ID = 18499]

33) T characterize hazardous waste following characteristics are taken into account :
(A) Conductivity
(B) Ignitability
(C) Corrosivity

(D) Magnetic succeptibility
(E) Reactivity

Choose the correct answer from the optlons given below :
(1) (A). (B). (C) and (E) only ( (B), (C) and (E) only

(3) (A). (C) and (D) only (4) (B). (C). (D) and (E) only

EAETF AU F ATHAIAT 0 [0 FHEAEE § | = Eeiare W EEn e = e

(A) FATAFRAT
(B)
(C) L mzm=ar

= 6*
® (et \‘\)

#r= fau m ot § ® WA I W A i E >

() = (A). (B). (C) ¥R () \_@A_cﬁ (B). (C) 3it (E\‘;(\e

(3)  F= (A). (C) 3 (D) 4 FEa (B). )

[Questlon ID = 4625][Question Description = Q38_GP_0 %SH
. 1 [Option ID = 18500]

2. 2 [Option ID = 18501]

3. 3 [Option ID = 18502] ;E }
4. 4 [Option ID = 18503] O

34) Poly cryst.al:' on often used in Photovoltale cells as semiconductors are :
1vidual erystals with different orientations
(2) L ;1)? individual crystals with similar orientations
(3) Amorphous silicon converted to crystal silicon
(4) Crystal silicon grown 1n laboratory
AI-TEF F T ¥ FRENCF To8 B U THF BH 91 a5 (Tie e ) e F

1) C T svtvia=g a= ﬁn—ﬁﬁ%@m

(2)  Oum[ AY-Ta=ma T faa-Tag e |

(3)  ToFvee WiEwE A s@mn mese 9 qiada 29 =491 7l

(4)  vEFREnEn | EwEa B e e |
[Question ID = 4626][Question Description = Q39_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18504]
2. 2 [Option ID = 18505]

3. 3 [Option ID = 18506]
4. 4 [Option ID = 18507]

35) : /\ ; R : :
at 1s the correct sequence of prescribed limits 1in residential areas of 24 hourly averaged
following pollutants by Central Pollution Control Board of India?

(A) PM 25

Fa =% T\ T 11y
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LAt 4 vl WP
(C)  SOx
(D) Pb

Choose thé correct answer frgm the options given below :

(1)
(3)

Pb = 50:=PM10=PM 2.5 (2) PM10=PM2.5=50==Pb
PM2.5 = PM10> Pb = S0 (4) FPMI10=30:=FM2.5 =Pb

AT % HZE T A 918 gw fAfafaa ggee = srEnE g #2452 % aun W e ™

“itEa =g faffe dmne = @8 %8 #0327
(A) PM25
(B) PM10 /
110
(C) SOx
(D) Pb

Hr= fau T et § @ meE SugEd S R 99 i

(1
(3)

Pb = 50> PM10 = PM 2.5 (2) PMI10=PM2.5>80x=Fb
PM2.5 = PM10=> Pb > S0z \/A} PM10 = 50 > FM2.5 > Pb

[Question ID = 4627][Question Description = Q40_GP_01NOV_S1_SHAAN]

4. 4 [Option ID = 18511]

1. 1 [Option ID = 18508]
2. 2 [Option ID = 18509]
3. 3 [Option ID = 18510] \‘\)

36) Which among the following is NOT the responsibility of UGC?

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

‘ \( ;
To regulate guality of higher educatiom.~~ &\\\
To maintain discipline in campuses of institutic-n T 'education.)(

To fund research projects of faculty \,}
To suggest model curriculum to thg uni 1ties

T o1 Hizel TIaE=aAl H g 2

[Question ID = 4628][Question Description = Q41_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18512]
2. 2 [Option ID = 18513]
3. 3 [Option ID = 18514]
4. 4 [Option ID = 18515]

37) Match List I with List II :

ListI List IT
Personality / Domain \/

(A) Rabindranath Tagore (I)  Physics
(B) S.Chandrashekar (IT) Literature
(C) Manjul Bhargava (III) Economics

(D) Amartya Sen (IV) Mathematics

Choose the correct answer from the options given below :

(1)
2
(3)
4)

(A)-(IT). (B)-(I), (C)-(IV), (D)-(III)
(A)-(IV), (B)-(III). (C)-(I). (D)-(II)
(A)-(D). (B)~(I1). (C)-(IV). (D)-(IIT)
(A)-ID. (B)-(I). (C)-AV). (D)-(IT)

-1 % g g=-I1 1 fgem i
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- I

=i ZE]
(A) T M //LB Tl
(B) vH = II) wEe

(C) et wrla II) wA¥=me
D) ><:::m o
Hr= 5o e 9 1 = I w1 == A
(1) (A)-(IT). (B)-(I). (C)-(IV). (D)-(III) \/
(2) (A)-(IV), (B)-(I1I). (C)-(I). (D)-(IT)

(3) (A)-(D). (B)-(IL). (C)-(IV). (D)-(III)
(4) (A)-(IIT). (B)-(I). (C)-(IV). (D)-(II)

[Question ID = 4629][Question Description = Q42_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18516]
2. 2 [Option ID = 18517]
3. 3 [Option ID = 18518]
4. 4 [Option ID = 18519]

38) Given below are two statements : One is labelled as Assertion (A) and the other 1z labelled as

Reason (R) :

Asszertion (A):  There are regional variations in the quality of education provided by the Eﬂ

institutions of higher education.

Reasons (R) : Institutions of higher education cannot be compared as they caéer)&he

needs of different social groups of students. \\(\e

In the light of the above statements. choose the mogst a@answ&r from the options

given below : &
v "
(1) Both (A) and (R) are corr‘;@&s the correct explanation of (A)

\}2(\ Both (A) and ( r -.@ct ut (R) 1s NOT the correct explanation of (A)

(B3] (A) 18 but YR) 1s not correct
(4@&0 rect but (R) 1s correct

4= 21 F9E BT v v el (Asselﬁonﬂ)%laqfiﬁf@ﬂ%ﬂ}wmmReason (R) = &Y

T
SR (A) - mﬁmmm@mﬁww
T (R) : == Toven wemet 1 g FA A Tl 2 it 3 i F faes - et

HEl 1 AAEv AT # gfd @/

I9FHT FYA % AAF | A= S0 T Gl § ¥ gEE 395 I F w9 i

(1) () @R (R =EE @R R). (A) = s R

(2) (A 3R (R) A = | @fE (R (A) i of =amen 78 2 /
(3) (A @A 2 AR (R)WE T 2
@ Q) @EE e R) w2

[Question ID = 4630][Question Description = Q43_GP_01NOV_S1_SHAAN]
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1 [Option ID = 18520]
2 [Option ID = 18521]
3 [Option ID = 18522]
4 [Option ID = 18523]

AN wnN -

39) Which among the following are the types of Universities existing in India currently?

(A) Community University

(B) Deemed Universitf/

(C) Research University

(D) Central UniversitM
(E) Private University /

Choose the correct answer from the options given below :

(1) (A). (B), (C), (D) only (2)  (A), (B), (D). (E) only
( (B). (D). (E) on (4)  (A), (C), (D) only
FARM A HAENEd § FH-F1F U UER % AvaEeEg 96E | GEEE 2 7

(A) TR et 7<

(B) =i et O(\\\

(C) g favafemem P A(\)
(D)  Fam fvatEmes / \e%

ol

= fau T gl § | wEl 3 # =9 Fiae

(1) %= (A), (B). (C). (D) (2) #F== (A). B). D). (B)

3 (=== (B). (D). (E) ) (4)  =ae (A). (C). (D)

[Question ID = 4631][Question Description = Q44_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18524]
2. 2 [Option ID = 18525]
3. 3 [Option ID = 18526]
4. 4 [Option ID = 18527]

40) Given below are two statements :

Statement I:  Modern Universities in India were established first during colonial period.

Statement II : The British government were genuinely Interested In expanding the

Institutions of higher education in India.

—_—

In the light of the above statements. choose the most appropriate answer from the options

given below :
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(1) Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement II are incorrect
(3 Statement I 1s correct but Statement II is incorrect
(4) Statement I 1s incorrect but Statement II 1s correct

= 2 %A fou o 2 -

F9= (I):  aFd 3 ATgEE [Svaiaaed i \ueeT §Eus S9HETE e ¥ 53 9| \/

e (I0) : Wwﬁwﬁmﬁww:ﬁ%%ﬂﬁwéﬁﬁl ] {\% /
e o - —

I FU FAEE 5, A fow T faewt § § 59 3ug I 6 =9 i

(1) =FuwIamIls adis |

(2)  FE IR 2 Toa 2 | \/
(3) 6211 1o 2, afeT o IIna‘?r_Ei__D ; \‘\)M
(4) A Do B, S e [LHe 2 (\e

z. 2 [Option ID = 18529]

3. 3 [Option ID = 18530]
4. 4 [Option ID = 18531]

[Questlon ID = 4632][Question Description = Q45_GP_01NOV_S1_SH
. 1 [Option ID = 18528]

Topic:- GP14_C

1)

\6‘?’

Read the passagvi&i$ questions.
0‘0

e time has increased tremendously since World War II. In this time
ms and maladies have also increased. Frustrations. nervous break-
o en marriages. aleoholiam and erime rates are directly related to too much time
with nothing to do. Combine this with the permissiveness that has permeated our culture
and the attitude of doing just enough to get by. and the problems are multiplied workers
often lose pride in thelr workmanship and their performance begins to go down. When
performance goes down. shoddy merchandise is produced. and shoddy Merchandise does not
find a ready market because consumers anvwhere demand quality. They turn to foreign
imports and the local producer iz caught in the squeeze by lowered sales volume. Every
nation must resell the idea of performance and honest effort for an honest day’s pay. Surely
the world owes us a living. but we have to work for it. We have to reverse the philosophy of
doing little and collecting much or we will be caught in the pinch of pricing ourselves out of
quality products and services. The only plan that is going to work over the long haul is an
internal change in our philosophy. We must produce the qualityv merchandise people
demand. at the right price or the consumer will turn more and more to imported products.
Fortunately. we can do this. we say this without any mental reservation. because the local
worker, under controlled tests, has consistently out produced his counterparts on project
after project. Better quality means better price. Honest efforts. not higher tariffs iz the
solution to the problem.

o= fova 95 @ ool fava & ‘w0 F &m0 ° et 9§ Aghddl 53¢ | S9 OvEElg O A
aEEEl S wEaE ¥ i seiel # T R | Fe1, AEiEE daed @ da, Haw-faesa, e # s
FFT ST WY T, 95d AHE GHE 5H H @19 F B 991 B b [0 T8 5H W, Hid G 0 getad # | 56
TSHTEAET & W1 A3 © 55 7HH @EFG A Ues TY FOE 3R SHEer O R T FE A 2 o
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% o0 SOFERE T F f9ER [ TEid 590 | Hived =9 9 [Jva aneiiEe imH w6 F o e 2
i e Al A i Fs A e W A A e # b | e ) aen
T T T A e g A v n e 2 w see & 3fw e i A
T AT g I F A e S A W 3 A w e o fo
e wgfed iSRG 0 2 S AR T g i 2| A A S FEEee J e FeEE
I T WS R AR SR B {e e w2 s G e e 2w e s

I 7 HAT T S U ST S TEl ST w21 F610 SUEEET Ted® SR el S T 2 | A
SusTEAT fanell SAEal i T 397 7 AW 2 S A S 9% 1 A B FE 9 o ° o9E § 6
AT 2| A AT Fe i wF SAawuE A ST 3 56 3 % 994 7| 76 od A e
G AT % Hd 7, FH 9060 T & FAe TAHEE A RS- =g S g
T TR ATF I FAA 2 | To9 oAl F gae 3= Fi9d 7 | THEEE T A = s #w

Too much leisure time will rezult in :

(1) More productivity (2) Scope for recreation

\}}3’)/ More social 1zsues to solve (4) Increased permissiveness

wgd WF TG F v 1 GHTH &

(D ATF IeaTEHaT (2) AR 1 faen *
(8)  Toamm % fou sfas gmfss g8 (4) =9 g8 FeEEET \)d

[Question ID = 4633][Question Description = Q46_GP_01NOV_S1_SHAAN]
. 1 [Option ID = 18532] o e
2 [Option ID = 18533]
3 [Option ID = 18534] , \\(\
4 [Option ID = 18535] O(\

2) Read the passage and answer gquestions. \)

The world over. leisure time has incr ﬁ tremendously since World War II. In this time
period. social problems and m
' 11 n and crime rates are directly related to too much time

A W N -

downs. broken marri
with nothing to do, Co!
and the attitudé
ofte osgg %inYtheir workmanship and their performance begins to go down. When
pe a

‘e also increased. Frustrations. nervous break-

A1z with the permissiveness that has permeated our culture
doin® just enough to get by. and the problems are multiplied workers

oes down. shoddy merchandise is produced. and shoddy Merchandise does not

find ady market because consumers anywhere demand quality. They turn to foreign
imports and the local producer is caught in the squeeze by lowered sales volume. Every
nation must resell the idea of performance and honest effort for an honest day’s pay. Surely
the world owes us a living. but we have to work for it. We have to reverse the philosophy of
doing little and collecting much or we will be caught in the pinch of pricing ourselves out of
quality products and services. The only plan that is going to work over the long haul is an
internal change in our philosophy. We must produce the qualityv merchandise people
demand. at the right price or the consumer will turn more and more to imported products.
Fortunately. we can do this. we say this without any mental reservation. because the local
worker, under controlled tests. has consistently out produced his counterpartz on project
after project. Better quality means better price. Honest efforts. not higher tariffs iz the
solution to the problem.

fodta fava 35 & gopl fava @ ‘e & & °H weteE w9 9 gl 552 | 59 GEAEtg B e
aEEEl S wEaE ¥ i seiel # T R | Fe1, AEiEE daed @ da, Haw-faesa, e # s
FFT ST WY T, 95d AHE GHE 5H H @19 F B 991 B b [0 T8 5H W, Hid G 0 getad # | 56
TSHTEAET & W1 A3 © 55 7HH @EFG A Ues TY FOE 3R SHEer O R T FE A 2 o

% ToI0 SHFER wa % T =0 W =i won | e =9 8 favg snsitasn vee e % e e 2
FTF SO% o0 26 0/ F 92 | 6 ATS] FH 9R AlO® T % g # Saee 2 99E 56 30 o
Tl T AT AT A HANHA F G T T B ) HEAE H FE | FAA FE A1 A a6 T

% A W FE T A TE EFAN WgE H UF AN 95Ad & | 76 SEvd Al 39d 9o W SaHEE #1 50
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AT UTECATE S 1 IeAIET BT ET AYET ITATFE S S A B A A0 e w9 " e e
i, i wafed 1 AG a1 2 S T #E e A T 2 | AtEE R e wE e 8 FHied mene
I UPT: W SAl & AR IR Foae R e S 2| S R e e @ oae T A o s

T & 3N TE 9 T UF Stad S Al W Al FiE ST9ET T R Eel S T 2 | 9
SusTEAT fanell SAEal i T 397 7 AW 2 S A S 9% 1 A B FE 9 o ° o9E § 6
AT 2| A AT Fe i wF SAawuE A ST 3 56 3 % 994 7| 76 od A e
G AT % Hd 7, FH 9060 T & FAe TAHEE A RS- =g S g
H TTER AGF IAEA FA1 2 | ToF oA F Ages 359 FiEd # | SHEGR T A F 3= e w

When the local products are of syli-standard quality. the consumers will prefer :

(1) Imported goods (2) Paying more for quality products

(3 To indulge in more leisure activities (4) To avoid the intended buying
e T TeE -t i e o 5 At ST B TEe B2

(1)  wfaa =%ge (2)  TIHEATIE AT % U SAE E@E wE
(3)  wfus wEa a=h afafafml d wfrs amn) @) srde wlEed = TR

[Question ID = 4634][Question Description = Q47_GP_01NOV_S1_SHAAN]

A W N -

3)

1 [Option ID = 18536] ‘

2 [Option ID = 18537] ‘
3 [Option ID = 18538] , 3\‘\)

4 [Option ID = 18539] 6

Read the passaze and answer questions. \XQ
The world over. leisure time has increased tremendous War II. In this time

period. social problems and maladiez have also ijcre tratlons nervous break-

downs. broken marriages. alecoholiam and crimk r&ted are directly related to too much time
with nothing to do. Combine this with t eness that has permeated our culture
and the attitude of doing ]ust e 0 t bv and the problems are multiplied workers

often lose pride in their _wao 1&, d their performance begins to go down. When
performance goes dow chandize 1s produced. and shoddy Merchandise does not
find a ready market b a consumem anywhere demand quality. They turn to foreign
1mp01't5 and al producer 1s caught in the squeeze by lowered sales volume. Every
e 1dea of performance and honest effort for an honest day's pay. Surely

s us a living, but we have to work for it. We have to reverse the philosophy of
; le and collecting much or we will be caught in the pinch of pricing ourselves out of

quality products and services. The only plan that is going to work over the long haul is an
internal change in our philosophy. We must produce the qualityv merchandise people
demand. at the right price or the consumer will turn more and more to imported products.
Fortunately. we can do this. we say this without any mental reservation. because the local
worker, under controlled tests. has consistently out produced his counterpartz on project
after project. Better quality means better price. Honest efforts. not higher tariffs iz the
solution to the problem.
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The 1dea of honest performance iz linked to :

(1) Higher Prices for local products

(2) Earning an honest day's pay
(3) Lesz work and more returns
(4 Pricing out quality products and services

T i~ o~ EY
SHHGH TG =6l 991 F851 7 ¢

i

(1)  vurE zeE % fom 523 Fimd § 261 ae s

(2)  tTHEEE H U e wE E EE A

(3)  FH FE AW AlGH =Y

(4 T T s e & e et (e se)

2 [Option ID = 18541] )\,
3 [Option ID = 18542]
4 [Option ID = 18543] \\ (\e

4) Read the passaze and answer questions. Q
The world over. leisure time has increased trem usly ce World War II. In this time

period. social problems and maladies have k eased. Frustrations. nervous break-
downs. broken marriages. alecholism ﬂ%l‘il e Pates are directly related to too much time

A W N -

[Question ID = 4635][Question Description = Q48_GP_01NOV_S1_SHAAN] &
1 [Option ID = 18540] \)

permissiveness that has permeated our culture

with nothing to do. Combhine th ‘g

and the attitude of doing 'uQ& to get by. and the problems are multiplied workers
often lose pride in th

performance go

anship and their performance begins to go down. When
dbwn.$hoddy merchandise is produced. and shoddy Merchandise does not

i because consumers anvwhere demand quality. They turn to foreign

\ lotal producer is caught in the squeeze by lowered sales volume. Every
st resell the 1dea of performance and honest effort for an honest day’'s pay. Surely
the world owes us a living. but we have to work for it. We have to reverse the philosophy of
doing little and collecting much or we will be caught in the pinch of pricing ourselves out of
quality products and services. The only plan that is going to work over the long haul is an
internal change in our philosophy. We must produce the quality merchandise people
demand. at the right price or the consumer will turn more and more to imported products.
Fortunately. we can do this. we say this without any mental reservation. because the local
worker. under controlled tests. has consistently out produced his counterparts on project
after project. Better quality means better price. Honest efforts. not higher tariffs is the
solution to the problem.

foda fava 95 & el fava @ ‘wwE & & A S w9 H Sgiel 532 | 39 GEAEtg B e
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How can we move towards quality products that people demand?

(1) Importing more and more foreign goods
(2) By working for longer hours
(3 Maintaining our existing philozophy of work

(4) Produce quality products and price them properly
(1)  wAg=rias Taesl Tegat 1 37mnd #H 9 |

(2) =@ TTE aF T4 F0F)

(3 e FE HEH S T \)&

(4)/" THEETRE TEGFT F IeACA FAAT AR IHF I=0 god T | 6)\‘

[Question ID = 4636][Question Description = Q49_GP_01NOV_S1_SHAAN] Y e
1 [Option ID = 18544] \(\

2 [Option ID = 18545] '
3 [Option ID = 18546] \
4 [Option ID = 18547] \)

5) Read the passage and answer questionsa
ot t

The world over. lelsure time ha 1%
period. social probler d@ es have also increased. Frustrations. nervous break-
downs. broken maryia otol

with nothing @’

A WN -

an e ‘
oft sﬁide in their workmanship and their performance begins to go down. When

remendously since World War II. In this time

1sm and crime rates are directly related to too much time
ine this with the permissiveness that has permeated our culture
offdoing just enough to get by, and the problems are multiplied workers

perfdpafince goes down. shoddy merchandise is produced. and shoddy Merchandise does not

find a ready market because consumers anvwhere demand quality. They turn to foreign
imports and the local producer is caught in the squeeze by lowered sales volume. Every
nation must resell the idea of performance and honest effort for an honest day’'s pay. Surely
the world owes us a living. but we have to work for it. We have to reverse the philosophy of
doing little and collecting much or we will be caught in the pinch of pricing ourselves out of
quality products and services. The only plan that is going to work over the long haul is an
internal change in our philosophy. We must produce the quality merchandise people
demand. at the right price or the consumer will turn more and more to imported products.
Fortunately. we can do this. we say this without any mental reservation. because the local
worker. under controlled tests. has consistently out produced his counterparts on project
after project. Better quality means better price. Honest efforts. not higher tariffs is the

solution to the problem.
fodta fava 95 & grpl fava @ ‘e & & °H S w9 W gl 552 | 39 GEAEig B O
el AT S W Sgiedl 7 T 2 | Fa1, A gger @l deT, e -ese, e # A
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The issue of low quality products can be addressed through :

(1) Honest workmanship

(2) Imposition of higher tariffs on imported goods \\LJJ’ @
(3) Lowering the production volume '\ﬂ/

(4 Hiring of non-local workers } MI\/’/

e SeUR % HE 1 SE HISAN H SEIEE A S 9l 7 @

(1) (s Frge )
(2) AT FEGH W =T TRl AT

(3)  IrUreA [9EAR F O F \/‘
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[Question ID = 4637][Question Description = Q50_GP_01O? SH
1. 1 [Option ID = 18548]
2. 2 [Option ID = 18549]

3. 3 [Option ID = 18550] 6
4. 4 [Option ID = 18551] *" .
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